
Q1) A) Fill in the blanks (Any five) : [5]
i) The Negotiable Instruments Act was passed in ________.

(1881, 1872, 1930)
ii) The person writing the cheque is called ________.

(Drawer, Drawee, Payee)
iii) A person who buys goods / services for a compensation is called

a _________ under section 2(7) of the 'Consumer Protection Act'.
(Trader, Consumer, Supplier)

iv) The Act of _______ was enacted to protect Indian geographical
producers in India.
(2000, 1999, 1998)

v) Trade and business practices conducted through the internet are
called _________.
(E-commerce, Service, Sales)

vi) Intellectual property is _________.
(Tangible property, Intangible property, None of these)

B) Match the following : [5]
'A' Group 'B' Group

i) Information Technology Act a) 14 July 1967
ii) The copy right Act b) Three parties
iii) Electronic signature c) 1957
iv) Bill of Exchange d) 27 October 2009
v) World Intellectual Property e) 2000

Organization
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Q2) What is Holder and Holder in due course? Explain privileges of Holder in
due course. [15]

Q3) Explain the importance of e-commerce and explain the legal issues arising
in e-contracts. [15]

Q4) Explain the three tier consumer disputes redressal system. [15]

Q5) Explain the concept of copyright and Trademark. [15]

Q6) Write short notes (Any three) : [15]

a) Essentials of cheque

b) Electronic signature

c) Salient features of Consumer Protection Act, 2019

d) Organs of 'World Intellectual Property Organisation'

e) Design


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àíZ àíZ àíZ àíZ àíZ 1) A)A)A)A)A) [aH$må`m OmJm ^ma. (H$m oUVohr nmM) …[aH$må`m OmJm ^ma. (H$m oUVohr nmM) …[aH$må`m OmJm ^ma. (H$m oUVohr nmM) …[aH$må`m OmJm ^ma. (H$m oUVohr nmM) …[aH$må`m OmJm ^ma. (H$m oUVohr nmM) … [5]
i) MbZj_ XñVEodO H$m`Xm ............. gmbr _§Oya H$aÊ`mV Ambm.

(1881, 1872, 1930)
ii) YZmXoe {b{hUmè`m ì`ŠVrbm .............. Ago åhUVmV.

(AmXoeH$, AmXoemWu, àmáH$Vm©)
iii) Or ì`ŠVr _mo~Xbm XoD$Z dñVw / godm IaoXr H$aVo Aem ì`ŠVrbm J«mhH$ g§ajU

H$m`Xm H$b_ 2(7) Zwgma ................. åhQ>bo OmVo.
(ì`mnmar, J«mhH$, nwadR>mXma)

iv) ^maVmV, ^maVr` ^m¡Jmo{bH$ CËnmXH$m§Zm g§ajU XoÊ`mgmR>r .............. H$m`Xm
ApñVËdmV Ambm.
(2000, 1999, 1998)

v) B§Q>aZoQ>À`m _mÜ`_mVyZ Ho$ë`m OmUmè`m ì`mnma d ì`dgm` nÕVrbm ................
Ago åhUVmV.
(B©-H$m°_g©, godm, {dH«$s)

vi) ~m¡{ÕH$ g§nXm hr ................ Amho.
(Ñí` _mb_Îmm, AÑí` _mb_Îmm, `mn¡H$s Zmhr)

~)~)~)~)~) `mo½` OmoS>çm Owidm …`mo½` OmoS>çm Owidm …`mo½` OmoS>çm Owidm …`mo½` OmoS>çm Owidm …`mo½` OmoS>çm Owidm … [5]
"A' JQ> "~' JQ>

i) _m{hVr V§ÌkmZ H$m`Xm A) 14 Owb¡ 1967
ii) H$m°nramB©Q> A°ŠQ> ~) VrZ nj
iii) BboŠQ´>m°{ZH$ ghr H$) 1957
iv) h§þS>r S>) 27 Am°ŠQ>mo~a 2009
v) OmJ{VH$ ~m¡{ÕH$ g§nXm g§KQ>Z B) 2000
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àíZ àíZ àíZ àíZ àíZ 2) YmaH$ Am{U `Wm{dYrYmaH$ åhUOo H$m`? `Wm{dYrYmaH$mg {_iUmao A{YH$ma ñnï> H$am.
[15]

àíZ àíZ àíZ àíZ àíZ 3) B©-H$m_g©Mo _hÎd gm§JwZ B©-H$amamV CX²̂ dUmè`m H$m`Xoera ~m~r ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) {ÌñVar` J«mhH$ VH«$ma {ZdmaU §̀ÌUm ñnîQ> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) H$m°nramB©Q> Am{U Q´>oS>_mH©$ `m g§H$ënZm ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) … [15]

A) YZmXoemMo Amdí`H$ KQ>H$

~) BboŠQ´>m°{ZH$ ghr

H$) J«mhH$ g§ajU H$m`Xm 2019 Mr d¡{eï>ço

S>) OmJ{VH$ ~m¡{ÓH$ g§KQ>ZoMr gmYZo

B) AmamIS>m (g§H$ën {MÌ)





Q1) A) Fill in the blanks (Any five) : [5]

i) The Human Development Index is release by _______.

a) World Bank b) I.M.F.

c) U.N.O. d) U.S.A.

ii) F.D.I. in India is allowed by two modes, Government route and
__________.

a) Automatic route b) Trade route

c) Export route d) Import route

iii) ________ is called the engine of economic development.

a) National Income b) Domestic trade

c) International trade d) National trade

iv) India is the founder member of ________.

a) E.U. b) U.S.A.

c) OPEC d) W.T.O.

v) Government pollicy about export and import is known as _____.

a) Foreign trade policy b) Fiscal policy

c) Financial policy d) Monetary policy

vi) _________ countries are involved in SAARC.

a) 10 b) 5

c) 8 d) 7
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B) Match the Following. [5]

A B

i) Human Development Index a) Current and capital account

ii) F.D.I. b) Group of Eight countries

iii) Balance of payment c) International Bank for
Reconstruction and Development

iv) SAARC d) Mehboob - Ul - Haq

v) Word Bank e) Need of Developing countries

Q2) Explain the role of Human Resources in economic development. [15]

Q3) Define the foreign capital and explain the role of foreign capital in economic
development. [15]

Q4) Define the foreign trade and explain the role of foreign trade in economic
development. [15]

Q5) Explain the functions of International monetary fund. [15]

Q6) Write short notes (any three) : [15]

a) Human Development Index

b) Limitations of foreign capital

c) BRICS

d) India's foreign trade since 2001

e) World Bank


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) _mZd {dH$mg {ZX}em§H$ ............. H$Sy>Z à{gÕ Ho$bm OmVmo.

A) OmJ{VH$ ~±H$ ~) Am`.E_.E\$.

H$) ẁ.EZ.Amo. S>) ẁ.Eg.E.

ii) ^maVmV E\$. S>r. Am`. (F.D.I.) bm XmoZ _mJm©Zo nadmZJr Amho gaH$mar _mJ©
Am{U .................

A) ñd§̀ MbrV _mJ© ~) ì`mnmar _mJ©

H$) {Z`m©V _mJ© S>) Am`mV _mJ©

iii) ............... bm Am{W©H$ {dH$mgmMo B§{OZ åhUVmV.

A) amï´>r` CËnÞ ~) Xoem§VJ©V ì`mnma

H$) Am§Vaamï´>r` ì`mnma S>) amï´>r` ì`mnma

iv) ^maV .............. Mm g§ñWmnH$ gXñ` Amho.

A) B. ẁ. ~) ẁ.Eg.E.

H$) AmonoH$ S>) S>ãë ỳ Q>r.Amo.

v) Am`mV Am{U {Z`m©Vr ~X²XbÀ`m gaH$maÀ`m YmoaUmbm ............. åhUVmV.
A) naH$s` ì`mnma YmoaU ~) amOH$mofr` YmoaU
H$) {d{Îm` YmoaU S>) _m¡{ÐH$ YmoaU
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vi) gmH©$ (SAARC) _Ü ò .............. amï´>m§Mm g_mdoe Pmbobm Amho.

A) 10 ~) 5

H$) 8 S>) 7

~) Imbrb OmoS>`m bmdm. [5]

 "A' "~'

i) _mZd {dH$mg {ZX}em§H$ A) Mmbw Am{U ^m§S>dbr ImVo

ii) E\$.S>r.Am`. (F.D.I.) ~) AmR> Xoem§Mm g_wh

iii) ì`dhma Vmob H$) Am§Vaamï´>r` nwZ…{Z©_m©U Am{U {dH$mg ~±H$

iv) gmH©$ (SAARC) S>) _oh~w~-Cb-hH$

v) OmJ{VH$ ~±H$ B) {dH$gZerb Xoem§Mr JaO

àíZ àíZ àíZ àíZ àíZ 2) Am{W©H$ {dH$mgmV _mZdr g§gmYZmMr ŷ{_H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) naH$s` ^m§S>dbmMr ì`m»`m Úm Am{U Am{W©H$ {dH$mgmVrb naH$s` ^m§S>dbmMr ŷ{_H$m ñnï>
H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) naH$s` ì`mnmamMr ì`m»`m Úm Am{U Am{W©H$ {dH$mgmVrb naH$s` ì`mnmamMr ŷ{_H$m ñnï>
H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) Am§Vaamï´>r` ZmUo{ZYrMo H$m }̀ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr VrZ) … [15]

A) _mZd {dH$mg {ZX}em§H$

~) naH$s` ^m§S>dbmÀ`m _`m©Xm

H$) {~«Šg (BRICS)

S>) ^maVmMm naH$s` ì`mnma 2001 nmgyZ

B) OmJ{VH$ ~±H$





Q1) A) Fill in the blanks (Any Five) : [5]
i) Balance of Payment is always _________.

a) Imbalance b) Balance
c) Flexible d) None of the above

ii) The foreign exchange market is a global ________.
a) Centralized b) Decentralized
c) Fixed d) None of the above

iii) Migration of skilled labour in International Trade is a 'Brain Drain'
for an undeveloped country, this statment is presented ______.
a) Dr. Abdul Kalam b) Sardar Patel
c) Dadabhai Nauroji d) Dr. Amartya Sen

iv) International Bank For Reconstruction and Development is also
known as ________.
a) World Bank
b) IMF
c) World Trade Organization
d) IDBI

v) Full form of OTC is ___________.
a) Out Put the Cover b) Over Transfer Currency
c) Own the Convert d) Over the Counter

vi) The world Trade Organization established on _______.
a) 1 January 1995 b) 12 July 1982
c) 1 April 1991 d) 1 March 1946
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B) Match the Pairs. [5]

          A Group          B Group

i) Determination of Foreign a) Varible Exchange Rate
Exchange Rate

ii) Flexible Exchange Rate b) World Bank
iii) Easy Currency Conversion c) 8th December 1985
iv) BRICS d) Currency Convertibility
v) SAARC e) 15th July 2014

Q2) State the measures to correct Disequilibrium in Balance of Payment. [15]

Q3) Explain the merits and demerits of Fixed Exchanged Rate. [15]

Q4) State the concept of Brain Drain & write the effects of Brain Drain. [15]

Q5) Explain the objectives & functions of World Bank. [15]

Q6) Write Short note (Any Three) : [15]

a) Labour Migration.
b) Foreign Exchange Market.
c) SAARC.
d) Convertibility of Rupee.
e) Multinational Corporations.


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]
i) ì`dhmaVrb Zoh_r ............. AgVmo.

A) Ag§VwbrV ~) g§Vw{bV
H$) bd{MH$ S>) `mn¡H$s Zmhr

ii) {dXoer {d{Z_` ~mOmanoR> OmJ{VH$ .............. ñdê$nmMr ~mOmanoR> Amho.
A) H|${ÐV ~) {dH|${ÐV
H$) pñWa S>) `mn¡H$s Zmhr

iii) Am§Vaamï´>r` ì`mnmamV Hw$eb l{_H$m§Mo ñWbm§Va ho A{dH${gV XoemgmR>r ~wÕrMo
{ZñgmaU H$aVo Ago CX²Jma ............... `m§Mo AmhoV.
A) S>m°. AãXþb H$bm_ ~) gaXma nQ>ob
H$) XmXm^mB© Zm¡amoOr S>) S>m°. A_Ë ©̀ goZ

iv) nwZ{Z©_m©U Am{U {dH$mgmgmR>rÀ`m Am§Vaamï´>r` ~±Ho$bm ........... Agohr åhUVmV.
A) OmJ{VH$ ~±H$ ~) Am`.E_.E\$.
H$) OmJ{VH$ ì`mnma g§KQ>Zm S>) Am`.S>r.~r.Am`.

v) OTC Mo nyU© ê$n ................ Amho.
A) Out Put the Cover ~) Over Transfer Currency
H$) Own the Convert S>) Over the Counter

vi) OmJVrH$ ì`mnma g§KQ>ZoMr ñWmnZm ................ amoOr H$aÊ`mV Ambr.
A) 1 OmZodmar 1995 ~) 12 Owb¡ 1982
H$) 1 E{àb 1991 S>) 1 _mM© 1946

3 P.T.O.
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~) OmoSçm bmdm. [5]

A JQ>         ~ JQ>

i) {dXoer {d{Z_` XamMo {ZYm©aU A) ~XbVm {d{Z_` Xa

ii) bd{MH$ {d{Z_` Xa ~) OmJ{VH$ ~±H$

iii) MbZmMo ghO ê$nm§VaU H$) 8 {S>g|~a 1985

iv) {~«Šg S>) MbZ n[adV©{Z`Vm

v) gmH©$ B) 15 Owb¡ 2014

àíZ àíZ àíZ àíZ àíZ 2) ì`dhma VmobmVrb Ag_Vmob Xþê$ñV H$aÊ`mMo Cnm` {bhm. [15]

àíZ àíZ àíZ àíZ àíZ 3) pñWa {d{Z_` XamMo JwU Xmof ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) ~m¡ÕrH$ {ZñgmaUmMr g§H$ënZm gm§JyZ, ~m¡ÕrH$ {ZñgmaZmMo n[aUm_ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) OmJ{VH$ ~±Ho$Mr CÔrï>ço Am{U H$m }̀ WmoS>Š`mV ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) l{_H$m§Mo ñWbm§Va.

~) {dXoer {d{Z_` ~mOma.

H$) gmH©$.

S>) ê$n`mMr n[adV©{Z`Vm.

B) ~hþamï´>r` _hm_§S>io.





Q1) a) Define the following Terms (Any 5) : [10]
i) Income
ii) Person
iii) Previous year
iv) Exempt Income
v) Assessee
vi) Perquisites

b) Write short notes (Any 2) : [10]
i) Agriculture Income.
ii) Tax Deducted at Scarce.
iii) Advance Tax.

Q2) Solve Problems (Any 2) : [14]
a) Mr. Ramakant, Lasalgaon provide the following salary structure. [7]

Basic Salary A 30,000 p.m.
Bonus A 24,000 p.a.
Education Allowance (2 childrens) A 480 p.m. per children
Hostel Allowances (2 childrens) A 600 p.m. per children
Commission A 60,000 p.a.
Transport Allowance A 4,800 p.m.
Tiffin Allowance A 1,200 p.m.
House Rent Allowance A 12,000 p.m. (Rent paid by him A 72,000). He
has been provided with 1800 CC car along with driver for both private
and office purpose. Expenses is borne by employer. He has paid
professional Tax @ 2500 p.a. compute his net taxable salary income for
the A.Y 2023-24 under old Regime.
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b) Compute Income from House property of Mr. Ramesh, Chandwad for
the A.Y 2023-2024 from the following particulars under old Regime. [7]
Particulars A

Interest on loan 40,000
Municipal Tax 6,000
Vacancy period 2 month
Unrealised Rent 10,000
Annual Rent 2,40,000
Standard Rent 2,30,000
Fair Rent 2,50,000
Municipal Value 3,00,000

c) Following is the Profit & Loss A/c for the Business of Mr. Sham, Shirpur
for the financial year ending on 31.3.2023. [7]

Profit & Loss A/c
Particulars A Particulars A

To Salary 1,25,000 By Gross profit 3,75,000
To Interest on loan 51,250 By Int. on Bank deposit 6,250
To Advertisement 6,250 By Sundry Receipts 18,750
To R.D.D. 6,250 By Gift from mother 50,000
To Fire Insurance 5,000
To Wealth Tax 15,000
To Office Exp. 6,250
To Income Tax provision 6,250
To Depreciation 50,000
To Net profit 1,78,750

4,50,000 4,50,000
Other Information
i) Bank loan is taken for Business purpose.
ii) Depreciation allowed as per Income Tax Rule is A 56,250.
iii) Advertisement include A 2,500 as expenses for selling household

furniture.
iv) Salary include A 12,500 paid for domestic purpose.
You are required to compute Taxable Income form Business for A.Y
2023-24 under old Regime.
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Q3) Mr. Rajveer, Ajmer has given the following particulars of his incomes and
savings for the financial year ending on 31.3.2023. [16]
Gross Salary A 7,80,000
Income from House Property A 2,60,000
Income from Business A 3,90,000
Int. on Govt. Securities A 26,000
Int. on Bank Saving A/c A 10,000
Int. on P.P.F. A 13,000
Int. on Debentures A 26,000
He paid professional Tax A 2,500
Mr. Rajveer made the following investment during the year.
LIC premium A 30,000
Deposit in PPF A 78,000
NSC A 52,000
Mediclaim A 25,000
Int. on Education Loan. A 60,000
Compute his Taxable Income & Tax Liability in old and New Regime and
give the suitable option for saving a Tax of Mr. Rajveer for the A.Y. 2023-24.


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àíZ àíZ àíZ àíZ àíZ 1) A) Imbrb g§H$ënZm ñnï> H$am. (H$moUVohr 5) [10]
i) CËnÝZ
ii) ì`ŠVr
iii) H$a AmH$maUr df©/Am{W©H$ df©
iv) H$a_wŠV CËnÝZ
v) H$aXmVm
vi) gmò r d gw{dYm

~) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr 2) [10]
i) H¥$fr CËnÝZ
ii) CJ_ (òmoV) da hmoUmar H$a H$nmV
iii) AmJmD $H$a

àíZ àíZ àíZ àíZ àíZ 2) CXmhaUo gmoS>dm (H$moUVohr 2) [14]
A) lr. a_mH$m§V, bmgbJmd, `m§Mr nJmamnmgwZ {_iUmè`m {_iH$VrMr _mhrVr Imbrb

à_mZo Amho. [7]
_wi nJma A 30,000 à{V _hm.
~moZg A 24,000 à{V df©.
e¡j{UH$ ^Îmm (2 _wbmgmR>r) A 480 à{V _hm. à{V _wbmgmR>r
dgVrJ¥h ^Îmm (2 _wbmgmR>r) A 600 à{V _hm. à{V _wbmgmR>r
H${_eZ A 60,000 à{V df©.
dmhVwH$ ^Îmm A 4,800 à{V _hm.
S>ã~m ({Q>\$sZ) ^Îmm A 1,200 à{V _hm.
Ka ^mS>o ^Îmm A 12,000 à{V _hm. (a_mH$m§V `m§Zr A 72,000 ^mS>o AXmHo$bo Amho)
lr a_m§H$m§V ̀ m§Zm 1800 gr.gr. H$ma S´>m`ìhagh H$m`m©b`rZ d ImOJr H$m_mgmR>r {Xbobr
Amho òUmam gd© IM© H§$nZrMm _mbH$ AXm H$aVmo. a_mH$m§V `m§Zr A 2,500 à{V df©
ì`dgm` H$a AXm Ho$bm Amho.
d[ab _m{hVrÀ`m AmYmao H$a {ZYm©aU df© 2023-24 gmR>r nJmamnmgwZ {_iUmao CËnÝZ
OwÝ`m H$aàUmbrà_mUo emoYm.

4 P.T.O.
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~) lr a_oe, Mm§XdmS> `m§Mo H$a {ZYm©aU df© 2023-24 H$arVm KamnmgwZ {_iUmao CËnÝZ
OwÝ`m H$a àUmbrà_mUo emoYm. [7]

Vn{eb aŠH$_
H$Om©darb ì`mO 40,000
ZJanmbrH$m H$a 6,000
[aŠV H$mbmdYr 2 _{hZo
dgwb Z Pmbobo ^mS>o (AdmñVd ^mS>o) 10,000
dm{f©H$ ^mS>o 2,40,000
_mZH$ ^mS>o 2,30,000
dmOdr ^mS>o 2,50,000
ZJanmbrH$m _wë`m§H$Z 3,00,000

H$) lr í`m_ {eanwa `m§Zr Am{W©H$ df© 31.3.2023 gmR>rMo Z\$m VmoQ>m nÌH$ gmXa Ho$bo Amho.
[7]

Z\$m VmoQ>m nÌH$
Vn{eb aŠH$_ Vn{eb aŠH$_
nJma IM© 1,25,000 T>mo~b Z\$m 3,75,000
H$Om©darb ì`mO 51,250 ~±Ho$Vrb R>odrdarb ì`mO 6,250
Om{hamV IM© 6,250 {H$aH$moi CËnÝZ 18,750
CYmar ~wS>ì`mMr VaVyX (RDD) 6,250 AmB©H$Sw>Z {_imbobo ~jrg 50,000
AmJrMo {d_m 5,000
g§nÎmr H$a 15,000
H$m`m©b`rZ IM© 6,250
Am`H$a VaVwX 6,250
Kgmam 50,000
{Zìdi Z\$m 1,78,750

4,50,000 4,50,000
BVa _m{hVr :

i) H$O© ho ì`dgm`mgmR>r KoVbobo Amho.

ii) Am`H$a H$m`Xçmà_mZo _mÝ` Kgmam A 56,250 Amho.

iii) OmhramV IM© A§VJ©V A 2,500 hm IM© KaJwVr \${Z©Ma {dH$Ê`mgr g§~{YV Amho.

iv) nJma IMm©V A 12,500 ho KaJwVr H$m_mer g§~{YV AmhoV.

darb {Xboë`m _m{hVrÀ`m AmYmao H$a {ZYm©aU df© 2023-24 gmR>r OwÝ`m H$aàUmbrA§VJ©V
ì`dgm`m nmgwZ {_iUmao H$anmÌ CËnÝZ emoYm.
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àíZ àíZ àíZ àíZ àíZ 3) lr amOdra, AO_oa `m§Zr Am{W©H$ df© 2022-23 H$arVm CËnÝZ d JwVdUwH$sMr _mhrVr Imbrb
à_mZo {Xbobr Amho. [16]

doVZmnmgwZ {_iUmao T>mo~i CËnÝZ A 7,80,000
KamnmgwZ {_iUmao CËnÝZ A 2,60,000
ì`dgm`mnmgwZ {_iUmao CËnÝZ A 3,90,000
gaH$mar Jw§VdUwH$sdarb ì`mO A 26,000
~±Ho$Vrb ~MV ImË`mda {_iUmao ì`mO A 10,000
^{dî` {Zdm©h {ZYrdarb ì`mO A 13,000
H$O©amoRçmdarb ì`mO A 26,000
lr. amOdra `m§Zr A 2,500 ì`dgm` H$a AXm Ho$bm Amho.
lr. amOdra `m§Zr Imbrb Jw§VdUwH$ Ho$boë`m AmhoV.
Am ẁ©{d_m hám (Eb.Am`.gr)  A 30,000
gmd©O{ZH$ ^{dî` {Zdm©h {ZYr _Ü ò Jw§VdUwH$  A 78,000
{H$gmZ {dH$mg nÌ  A 52,000
Amamo½` {d_m hám  A 25,000
e¡j{UH$ H$Om©darb ì`mO  A 60,000
darb {Xboë`m _m{hVrdê$Z lr. amOdra `m§Mo H$anmÌ CËnÝZ d H$a OwÝ`m H$aàUmbr VgoM Z{dZ
H$aàUmbrMm dmna H$ê$Z emoYmdo d lr. amOdra `m§Zm H$moUË`m H$aàmUmbrV H$a dmMdVm òB©b
`m~Ôb _mJXe©Z H$amdo.


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Q1) A) Fill in the blanks with the most appropriate alternative. (Any five): [5]
i) Aggressive selling is a characteristic of ______ concept of

marketing.
a) Production
b) Marketing
c) Selling

ii) ______ provides fast and accurate marketing information.
a) Marketing information system
b) Management information system
c) Maintenance information system

iii) _____ is a function of physical supply.
a) Financing
b) Transportation
c) Risk Bearing

iv) Stock Exchange of Mumbai is an example for ______
a) Perfect market
b) Regulated market
c) Manufacture market

v) The most basic level of a product is called the ______
a) Core Product
b) Central Product
c) Fundamental Product

vi) ______ product exceeds customer expectations.
a) Strategic
b) Superior
c) Augmented

P.T.O.
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B) Match the following : [5]

Column A Column B

i) Marketing a) Derived from Latin word
Marcatus

ii) Insurance b) Means to reduce risk

iii) Bread and milk c) Identifies the product or brand

iv) Label d) Convenience products

v) Market e) Art and Science

Q2) Write a short note (any two) [10]

a) Features of Marketing

b) Steps in Market Segmentation

c) Product Life Cycle

d) Internet Marketing

Q3) a) Explain the various functions of Marketing. [8]

b) Explain the factors afecting Pricing. [7]

Q4) a) Explain factors affecting to the marketing mix. [8]

b) Define the term advertising. Explain the types of advertising Media. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) AmH«$‘H$ {dH«$s ho ................ Mo d¡{eï>ç Amho. {dnUZ g§H$ënZm

A) CËnmXZ
~) {dnUZ
H$) {dH«$s

ii) ............. ObX Am{U AMyH$ {dnUZ ‘m{hVr àXmZ H$aVo.
A) ‘mH}$qQ>J ‘m{hVr àUmbr
~) ì¶dñWmnZ ‘m{hVr àUmbr
H$) XoI^mb ‘m{hVr àUmbr

iii) ................ ^m¡{VH$ nwadR>çmMo H$m¶© Amho.
A) {dÎmnwadR>m
~) dmhVyH$
H$) OmoIr‘ nËH$aUo

iv) ‘w§~B©Mo ñQ>m°H$ E³gM|O ho ............... Mo CXmhaU Amho.
A) na’o$³Q> ‘mH}$Q>
~) ao½¶wboQ>oS> ‘mH}$Q>
H$) ‘°Ý¶w’°$³Ma ‘mH}$Q>

v) CËnmXZmÀ¶m gdm©V ‘wb ŷV ñVambm .............. åhUVmV.
A) ‘w»¶ CËnmXZ
~) H|$Ðr¶ CËnmXZ
H$) ‘wb ŷV CËnmXZ

vi) ................... CËnmXZ J«mhH$m§À¶m Anojm§nojm OmñV Amho.
A) aUZrVr
~) loð>
H$) g§d{Y©V
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~) Imbrb OmoS>çm Owidm : [5]

aH$mZm "A' aH$mZm "~'

i) {dnUZ A) b°{Q>Z eãX Marcatus nmgyZ ì¶wËnÞ

ii) {d‘m ~) åhUOo OmoIr‘ H$‘r H$aUo

iii) ~o«S> Am{U XÿY H$) CËnmXZ qH$dm ~±«S> AmoiIVmo

iv) bo~b S>) gw{dYm CËnmXZo

v) ~mOma B) H$bm Am{U {dkmZ

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) {dnUZmMr d¡{eï>ço

~) ~mOma {d^mOZmÀ¶m nm¶è¶m

H$) dñVy OrdZ-MH«$

S>) B§Q>aZoQ> ‘mH}$qQ>J

à.à.à.à.à.3) A) {dnUZmMr {d{dY H$m¶©o ñnîQ> H$am. [8]

~) qH$‘V {ZYm©aUmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [7]

à.à.à.à.à.4) A) {dnUZ {‘lmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [8]

~) Om{hamV åhUOo H$m¶? Om{hamV ‘mÜ¶‘m§Mo àH$ma ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Attempt any five): [5]
i) _____ is responsible for the fluctuations in the SENSEX.

a) Rain, drought, floods b) Monetary policy
c) Political instability d) All of the above

ii) The term Bullish indicates________
a) Positive price action b) Negative price action
c) Neutral price action d) None of these

iii) The first computerized online stock exchange in India is______
a) NSE b) BSE
c) MCX d) Commodity

iv) Purchasing and selling securities on the same day is known as_____
a) Delivery Trading b) Intraday trading
c) Stock Trading d) None of these

v) General Insurance Corporation was incorporated in _______
a) 1938 b) 1957
c) 1972 d) 1975

vi) IRDA stands for
a) Indian Regulatory Development Authority
b) Insurance Regulatory Development Authority
c) Investment in Insurance Regulatory Development Authority
d) None of These

P.T.O.



2[6032]-607

B) Match the following: [5]

i) Nifty a) Higher supply of shares than
demand

ii) SENSEX b) India’s largest insuranced
company

iii) Lower circuits c) To protect the interest of
investors

iv) LIC d) 30 Companies

v) SEBI e) National Stock Exchange

Q2) Write a short note (any two) [10]

a) Bear and Bull market

b) Lower and Upper circuit

c) Mutual fund

d) Organization of SEBI

Q3) a) Explain National Stock Exchange [8]

b) State the career opportunities in stock market [7]

Q4) a) Explain the functions of SEBI [8]

b) Explain the functions of housing finance Companies [7]


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2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.
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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) .............. ho goÝgo³g‘Yrb MT>CVmam§gmR>r O~m~Xma R>aVo.

A) nmD$g, XþîH$mi, nya ~) MbZ{df¶H$ YmoaU
H$) amOH$s¶ ApñWaVm S>) darb gd©

ii) "~wbre' hm eãX ............. Xe©dVmo.
A) gH$mamË‘H$ qH$‘V H¥$Vr ~) ZH$mamË‘H$ qH$‘V H¥$Vr
H$) VQ>ñW qH$‘V H¥$Vr S>) ¶mn¡H$s H$mhrhr Zmhr

iii) ................ ho ^maVmVrb n{hbo g§JUH$sH¥$V Am°ZbmBZ ñQ>m°H$ E³gM|O Amho.
A) EZ.Eg.B©. ~) ~r.Eg.B©.
H$) E‘.gr.E³g. S>) H$‘mo{S>Q>r

iv) EH$mM {Xder àVr ŷVtMr IaoXr Am{U {dH«$s ................. åhUyZ AmoiIbr OmVo.
A) {S>{bìhar Q´>oqS>J ~) B§Q´>mS>o Q´>oqS>J
H$) ñQ>m°H$ Q´>oqS>J S>) ¶mn¡H$s H$mhrhr Zmhr

v) gm‘mÝ¶ {d‘m ‘hm‘§S>imMr ñWmnZm .............. ‘Ü¶o Pmbr.
A) 1938 ~) 1957
H$) 1972 S>) 1975

vi) IRDA åhUOo ..............
A) ^maVr¶ {Z¶m‘H$ {dH$mg à{YH$aU
~) {d‘m {Z¶m‘H$ Am{U {dH$mg à{YH$aU
H$) {d‘m {Z¶m‘H$ {dH$mg àm{YH$aUm‘Ü¶o Jw§VdUyH$
S>) ¶mn¡H$s H$mhrhr Zmhr
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~) Imbrb OmoS>çm Owidm : [5]

"A' JQ> "~' JQ>

i) {ZâQ>r A) ‘mJUrnojm eoAg©Mm nwadR>m OmñV

ii) goÝgo³g ~) ^maVmVrb gdm©V ‘moR>r {d‘m H§$nZr

iii) bmoAa g{H©$Q²>g H$) Jw§VdUyH$Xam§À¶m {hVmMo ajU H$aUo

iv) Eb.Am¶.gr. S>) 30 H§$nÝ¶m

v) go~r B) amï´>r¶ eoAa ~mOma

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ~o¶a Am{U ~wb ‘mH}$Q>

~) bmoAa Am{U Aßna g{H©$Q>

H$) å¶wÀ¶wAb ’§$S>

S>) go~rMo g§KQ>Z

à.à.à.à.à.3) A) amï´>r¶ eoAa ~mOma ñnï> H$am. [8]

~) eoAa ~mOmamVrb ZmoH$ar d ì¶dgm¶mÀ¶m g§Yr gm§Jm. [7]

à.à.à.à.à.4) A) ^maVr¶ amoIo Am{U {dZ‘¶ ‘§S>i (go~r) Mr H$m¶©o ñnï> H$am. [8]

~) J¥h {dÎmnwadR>m H§$nÝ¶m§Mr H$m¶} ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [5]
i) The Companies Act, 2013 came into force on the  _______

(29th of June 2013, 29th of July 2013, 29th of August 2013)
ii) The concept of Company Act taken from _________ Companies

Act.
(English, American, Russian)

iii) In the case of unfair prejudice, a ________ shareholder has a
right to approach the court.
(Minority, Majority, Preference)

iv) _______ and Arrangements can take place between a company
and its creditors or members and / any class of them.
(Competition, Compromise, Condition)

v) The Cadbury Committee was established in May _______.
(1990, 1991, 1992)

vi) Corporate governance is not a law it’s a _________.
(Mechanism, Scheme, Policy)

B) Match the following : [5]
Column A Column B

i) The Companies Act, 1956 a) Removal of Managing Director

ii) Powers of Tribunal b) Corporate Governance

iii) Merger c) Section 149

iv) Conducting the business d) 1st April 1956

with all integrity & fairness

v) independent Director e) Combination of two or more
companies into a single
company
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Q2) Write a short note (Any two) : [10]

a) Features of Company

b) Prevention of Mismanagement

c) Conditions for sanction of Compromise

d) Principles of Morality

Q3) a) Explain the provisions related to social responsibilities of company?[8]

b) What is Minority Interest? What are the provisions & rights for
protection of minority interest? [7]

Q4) a) What are the rights and duties of inspector? [8]

b) Explain the Cadbury Committee Report on Corporate Governance.[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) H§$nZr H$m`Xm, 2013 ........... amoOr A§_bmV Ambm.

(29 OyZ 2013, 29 Owb¡ 2013, 29 Am°JñQ> 2013)
ii) H§$nZr H$m`ÚmMr g§H$ënZm ....... H§$nZr H$m`Úm nmgyZ KoVbr Amho.

(B§J«Or, A_o[aH$Z, a{e`Z)
iii) AÝ`m`H$maH$ nyd©J«hmÀ`m ~m~VrV ........ ^mJYmaH$mg Ý`m`mb`mV OmÊ`mMm

A{YH$ma Amho.
(Aëng§»`mH$, ~hþg§»`, AJ«hŠH$)

iv) .......... Am{U ì`dñWm ho H§$nZr Am{U {VMo H$O©Xma qH$dm gXñ` qH$dm Ë`m§Mm
H$moUVmhr dJ© `m§À`mV hmoD$ eH$Vo.
(ñnYm©, VS>OmoS>, AQ>)

v) H°$S>~ar g{_VrMr ñWmnZm .......... _o _Ü ò H$aÊ`mV Ambr.
(1990, 1991, 1992)

vi) H$m°nm}aoQ> Jìh©ZÝg hm H$m`Xm Zmhr, Va Vmo .......... Amho.
( §̀ÌUm, `moOZm, YmoaU)

~) `mo½` OmoS>²̀ m Owidm. [5]
aH$mZm A aH$mZm ~

i) H§$nZr H$m`Xm 1956 A) ì`dñWmnH$s` g§MmbH$mMr hH$mbnÅ>r
ii) Ý`m`m{YH$aUmMo A{YH$ma ~) H$m°nm}aoQ> JìhZ©Ýg
iii) {dbrZrH$aU H$) H$b_ 149
iv) gd© gMmoQ>rZo Am{U {ZînjVoZo S>) 1 E{àb 1956

ì`dgm` MmbdUo
v) ñdV§Ì g§MmbH$ B) XmoZ qH$dm XmoZnojm A{YH$ H§$nÝ`m§Mo

EH$ÌrH$aU

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) H§$nZrMr d¡{eï²>`o

~) J¡aì`dñWmnZmg à{V~§Y

H$) VS>OmoS> _§Oya H$aÊ`mÀ`m AQ>r

S>) Z¡{VH$VoMr VËdo

àíZ àíZ àíZ àíZ àíZ 3) A) H§$nZrÀ`m gm_m{OH$ O~m~Xmar~m~VÀ`m VaVwXr ñnï> H$am. [8]

~) Aëng§»`mH$ {hV åhUOo$ H$m`? Aëng§»`mH$m§À`m {hVmÀ`m g§ajUmgmR>r H$m` VaVwXr
Am{U A{YH$ma AmhoV? [7]

àíZ àíZ àíZ àíZ àíZ 4) A) Vnmg{ZgmMo hŠH$ Am{U H$V©ì ò H$moUVo AmhoV? [8]

~) H$m°nm}aoQ> JìhZ©Ýg~m~V H°$S>~ar g{_VrMm Ahdmb ñnï> H$am. [7]





Q1) A) Fill in the blanks (Any five) : [5]
i) The focus of export marketing is on the _________.

a) manufacturer b) nation
c) customer d) price

ii) ________ plays an important role in the development of co-
operative marketing in India.
a) National Apex federeration
b) NAFED
c) SFC
d) All of these

iii) The Area of NAFED is __________.
a) Whole Nation b) Whole state
c) Whole District d) Village level

iv) Market fees paid by ________.
a) Market committee
b) Seller
c) Authorised market produce buyer
d) Authorised person

v) M.A.P.M.C. means __________.
a) Maharashtra Agent produce market committee
b) Maharashtra Agriculture produce market committee
c) Maharashtra Pradesh Adat market committee
d) Maharashtra Agricultural produce management council
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vi) APMC model Act came into force in ___________ year.

a) 1903 b) 1803

c) 2003 d) 1904

B) Match the following pairs. [5]

'A' 'B'

i) Co-operative marketing strategy a) NAFED

ii) Co-op marketing b) Model Act - 2003

iii) Apex marketing federation c) APMC

iv) Market committee at Tehsil d) Co-operative export
marketing

v) Provision for APMC control e) Development of co-
operative market

Q2) Write short notes (any two) : [10]

a) Factors influencing marketing strategy of co-operative

b) Functions of NAFCD

c) Challenger to APMC

d) Basic features of APMC model Act 2003.

Q3) a) Define marketing strategy. State its importance. [8]

b) State the performance of NAFED. [7]

Q4) a) Stat the progress of APMC. [8]

b) State the objectives of model Act 2003. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) {Z`m©V {dnUZm_Ü ò ................. `mda ^a {Xbm OmVmo.

A) CËnmXH$ ~) amï´>

H$) J«mhH$ S>) qH$_V

ii) ^maVm_Ü ò ghH$mar {dnUZmV {dH$mgmgmR>r ............. Mr ̂ y{_H$m _hËdnyU© Amho.

A) amï´>r` gdm}ƒ _hmg§K ~) Zm\o$S>

H$) amÁ` {dÎm _§S>i S>) darb gd©

iii) Zm\o$S> Mr ì`már ................ n ª̀V Amho.

A) g§nyU© Xoe ~) g§nyU© amÁ`

H$) g§nyU© {Oëhm S>) IoS>r nmVir

iv) ~mOma \$s ............ Ûmao {Xbr OmVo.

A) ~mOma g{_Vr ~) {dH«o$Vm

H$) A{YH¥$V ~mOma CËnÞ IaoXrXma S>) A{YH¥$V ì`ŠVr

v) E_.E.nr.E_. gr åhUOo .................

A) _hmamï´> A{^H$Vm© CËnÞ ~mOma g{_Vr

~) _hmamï´> H¥$fr CËnÞ ~mOma g{_Vr

H$) _hmamï´> àXoe AmS>V ~mOma g{_Vr

S>) _hmamï´> H¥$fr CËnÞ ì`dñWmnZ g{_Vr

3 P.T.O.
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vi) E.nr.E_.gr. AmYw{ZH$ H$m`Xm ................ dfu A§_bmV Ambm.

A) 1903 ~) 1803

H$) 2003 S>) 1904

~) Imbrb OmoS>çm Oyidm. [5]

 "A' "~'

i) ghH$mar {dnUZ ì ỳhaMZm A) Zm\o$S>

ii) ghH$mar {dnUZ ~) AmYy{ZH$ H$m`Xm 2003

iii) gdm}À` {dnUZ g§K H$) H¥$fr CËnÞ ~mOmag{_Vr

iv) Vh{gb ñVamdarb ~mOmag{_Vr S>) ghH$mar {Z`m©V {dnUZ

v) E.nr.E_.gr. {Z §̀ÌUmÀ`m VaVyXr B) ghH$mar ~mOmam§Mm {dH$mg

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) ghH$ma {dnUZm ì ỳhaMZm `mda n[aUm_ H$aUmao KQ>H$

~) Zm\o$S> Mr H$m }̀

H$) H¥$fr CËnÞ ~mOma g{_Ë`m g_moarb AmìhmZo

S>) E.nr.E_.gr. AmYy{ZH$ H$m`Xm 2003 R>iH$ d¡{eï>ço

àíZ àíZ àíZ àíZ àíZ 3) A) {dnUZ ì ỳhaMZm ì`m»`m Úm VgoM Ë`mMo _hËd gm§Jm. [8]

~) Zm\o$S> Mr H$m_Jrar gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) H¥$fr CËnÞ ~mOma g{_Ë`m§Mr àJVr gm§Jm. [8]

~) AmYw{ZH$ H$m`Xm 2003 Mr CX²Xrï>ço gm§Jm. [7]





Q1) A) Fill in the blanks (Any 5 out of 6) : [5]

i) Under job costing each job is separately __________

a) identifiable b) unknown

c) logical d) variable

ii) In contract costing the total loss if any is transferred to ________

a) Trading Account b) Balance sheet

c) Costing profit and loss d) Drawings

iii) Retention money serves as a __________ with the contractee

a) tool b) security

c) purpose d) clause

iv) An escalation clause usually refers to change in prices of
__________

a) inputs b) material

c) labour d) taxes

v) In process industries there is a flow of _________ from one
operation to the next operation

a) logic b) purpose

c) continuity d) materials

vi) A __________ contains all relevant information regarding
production and other details of the job

a) list b) sheet

c) production order d) card
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B) Match the following : [5]
i) Service Costing a) Terminal costing
ii) Running charges b) Operating costing
iii) Costs at processes c) Over and above the normal

loss
iv) Contact costing d) Easily controllable
v) Abnormal loss e) Variable operating expenses

Q2) Short Notes (Any Two out of Four) : [10]
a) Contact Costing
b) Service Costing
c) Job Costing
d) Need for Process Costing

Q3) The following details of Contract A are available as on 31/03/2021. [15]

Particulars Rs.

Contract Price 6,00,000

Materials issued to contract 1,60,000

Materials returned to stores 4,000

Material on site on 31/03/2021 22,000

Materials transferred to contract B 9,000

Direct Labour 1,40,000

Chargeable expense outstanding 6,000

Wages payable 2,000

Direct expense 60,000

Hire of special machinery 10,000

Administration overheads 25,000

Plant installed at site at cost 75,000

Cost of contract not yet certified 23,000

Plant installation charges 5,000

Value of work certified 4,20,000

Value of plant on 31/03/2021 65,000

Cash received from contractee 3,78,000

You are required to prepare Contact A A/c for the year ended 31/03/2021.
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Q4) A product passes through three processes A, B & C. During a monthly
period 1000 units are produced with which the following information is
available : [15]

Particulars A B C

Direct material 2,000 1,000 1,000

Direct labour 1,500 700 800

Direct expense 300 100 100

Indirect expenses amounted to Rs.4500 and they are to be apportioned to
the process on the basis of Direct Material. Prepare process account showing
the total cost per unit at each process.

OR

From the following data calculate the cost per running mile of Road Lines
Transport Co.

Particulars

Mileage run (annual) 15,000 miles

Cost of vehicle Rs. 2,50,000

Road License (annual) Rs. 7,500

Annual Insurance Rs. 7,000

Annual Garage Rent Rs. 7,250

Supervision and Salaries (annual) Rs. 24,000

Drivers wages per hour Rs. 30

Cost of fuel per liter Rs. 20

Miles run per liter 20 miles

Repairs and Maintenance per mile Rs. 1.65

Tyre Allocation Per mile Rs. 0.80

Estimated life of vehicle 1,00,000 miles

Charge interest at 15% on the cost of vehicle. The vehicle runs 20 miles per
hour on an average.





Q1) Attempt the following :
A) Choose the correct alternative of the following: (any five)[5 × 1 = 5]

i) If Z ~ N (0, 1), then P(Z < 0) = P(Z > 0) = ?
a) 1 b) 0
c) 0.5 d) 0.75

ii) The hypothesis of the no difference is called as
a) Null Hypothesis b) Alternative Hypothesis
c) Two-sided d) One sided

iii) Let X  N(8, 25) then variance of X is
a) 8 b) 25
c) 0 d) 1

iv) We want to test H0 : Two attributes A and B are independent and
both the attributes are at three levels. Then under H0, the statistic
used is

a) 2
2c b) 2

4c

c) 2
3c d) 2

1c

v) Paired t-test was applied to 13 observations {(xi, yi) ; i = 1, 2, 3, ...,13}.
In this case the distribution of test statistic under null hypothesis
H0 : d = 0 is t-distribution with _______ degrees of freedom.
a) 13 b) 12
c) 26 d) 24
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vi) Stratified sample is ______ within and _____ Between the strata.
a) Homogeneous, Heterogeneous
b) Homogeneous, Independent
c) Heterogeneous, Homogeneous
d) Heterogeneous, Independent

vii) Analysis of variance is a statistical method of comparing the
_______ of several populations.
a) Standard deviations b) Variances
c) Means d) Proportions

B) State whether the following statements are True or False. [each one]
i) Level of significance cannot be made zero.
ii) In simple random sampling without replacement, drawn unit after

recording is replaced in population before next draw.
iii) Normal Distribution is positively skewed distribution.
iv) ANOVA is the preferred method for finding differences among

several population proportions.
v) Statistic is constant and parameter is random variable.

Q2) Write short note (any two) : [5 each]
a) Simple Random Sampling Without Replacement (SRSWOR).
b) Stratified Sampling with one real life situation.
c) Analysis of Variance (ANOVA).
d) Give the test procedure of Z-test for testing the significance of equality

of two population mean.

Q3) a) i) If X ~ N (0, 1) then find : [4]
I) P(X 1.3) II) P(0  X  1.3)
III) P(X  1.3) IV) Mean and Variance

ii) A random sample of 90 adults is classified according to gender and
the number of hours they watch television during a week : [4]
Hours spent in Gender
watching TV Male Female

Over 15 hours 15 29
Below 15 hours 27 19
Examine whether the time spent watching television is independent
of whether the viewer is male or female. Use 5% level of significance.
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b) i) Four types of fertilizers were applied to seven types of seeds and
the ANOVA table constructed is given below, fill in the blanks of
the following tables marked "–". [4]
Sources  of  Degrees  of   Sum     of  Mean        Sum    Variance
variation      freedom  squares of squares            Ratio
Between       3                  26.4       8.8 -
Fertilizers
Between       -   30  5 -
seeds
Error            18   77.9  -
Total             27   134.3
Test whether production across fertilizers equal or not? Use 5%
level of significance.

ii) A standardized placement test in mathematics was given to 11 boys
and 9 girls. The boys made score with sample mean square
S1

2 = 129.8, while the girls made score with sample mean square
S2

2 = 91.75. Use F- test to test whether the populations from which
the two samples are drawn have same variances or not at 10 % level
of significance. [Given : F10,8,0.05= 3.36]. [3]

Q4) a) i) A quality control manager of an electronic plant thinks that
handicapped people do same work as that of normal people. A
sample of 400 items produced by the handicapped found to have
20 defectives. On the other hand, a sample of 500 items produced
by the normal people contained 32 defectives’ the data support the
managers claim? Justify the answer, Use 5% level of significance.[4]

ii) The hours of sleep for 10 patients before and after giving a new
drug are recorded. Test whether there is a significant difference in
the average hours of sleep at 5 % level of significance. [4]
Hours of
sleep (before) 6 5 7 7 8 9 9 6 6 8
Hours of
sleep (after) 7 6.5 8 8.5 9 9.5 9.5 7 6.5 9

b) i) In a population of size 5 the values are 4, 3, 5, 7, 10. Draw all
possible sample of size 2 using SRSWOR. Verify that sample mean
is an unbiased estimator of population mean. [4]

ii) Define Standard Normal distribution, also state any two properties
of normal distribution. [3]





Q1) A) Fill in the blanks (Any 5) : [5]

i) ________ is the least important part of the business plan.

a) Planning control

b) HRM control

c) Implementation control

ii) A _________ is a written document.

a) Production Plan

b) Business Plan

c) Marketing Plan

iii) ERM stands for _________.

a) Enterprise Revenue Management

b) Enterprise Risk Management

c) Environment Risk Management

iv) Rs. ___________ Crores, the Government of India has set aside
a corpus fund for startup.

a) 10,000

b) 15,000

c) 20,000

v) A Start-up India may apply for tax exemption under section
________ IAC of the Income Tax Act.

a) 90

b) 80

c) 70
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vi) The profit of recognized start-ups are exempted from Income Tax
Act for _________ years.

a) Two

b) Three

c) Five

B) Match the Following. [5]

Group 'A' Group 'B'

i) Business Plan a) 2006

ii) MSME Act b) Vijay Sharma

iii) Start up c) Financial Aspect

iv) Vedantu d) 2015

v) Paytm e) Anand Prakash

Q2) Write Short notes (Any 2) : [10]

a) Importance of business plan.

b) Growth phase management

c) Types of business crises.

d) Examples of start-up.

Q3) a) What is Business Plan? Explain the objectives of business plan. [8]

b) Explain the challenges in implementation of ERM. [7]

Q4) a) What is business sickness? Explain the various causes of business
sickness. [8]

b) Explain the Do’s and Don’ts for startup. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ................ hm ì`dgm` `moOZoMm H$_r _hËdmMm ^mJ Amho.

A) {Z`moOZ {Z §̀ÌU

~) EM. Ama. E_. {Z`§ÌU

H$) A§_b~OmdUr {Z §̀ÌU

ii) ................ EH$ {b{IV XñVEodO Amho.

A) CËnmXZ `moOZm

~) ì`dgm` ̀ moOZm

H$) {dnUZ `moOZm

iii) B©.Ama.E_. åhUOo ................. hmo`.

A) EÝQ>aàmBP aoìhoÝ ỳ _°ZoO_|Q>

~) EÝQ>aàmBP [añH$ _°ZoO_|Q>

H$) EÝìhm`a_|Q> [añH$ _°ZoO_|Q>

iv) é. ................... H$moQ>r ^maV gaH$maZo ñQ>mQ>©-Aßg gmR>r H$m°n©g \§$S> åhUyZ
~mOybm R>odbm Amho.

A) 10,000

~) 15,000

H$) 20,000

3 P.T.O.
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v) ñQ>mQ>©-An B§{S>`m Am`H$a H$m`ÚmÀ`m H$b_ ............. IAC A§VJ©V H$a
gdbVrgmR>r AO© H$ê$ eH$Vo.
A) 90
~) 80
H$) 70

vi) _mÝ`Vmàmá ñQ>mQ>©-AßgÀ`m Zâ`mbm Am`H$a H$m`ÚmVyZ ............... dfm©gmR>r
gyQ> XoÊ`mV Ambr Amho.

A) XmoZ

~) VrZ

H$) nmM

~) OmoS>`m bmdm. [5]

 JQ> "A'  JQ> "~'

i) ì`dgm` ̀ moOZm A) 2006

ii) E_. Eg. E_. B. H$m`Xm ~) {dO` e_m©

iii) ñQ>mQ>©-An H$) {dÎmr` n¡by

iv) doXm§Vw S>) 2015

v) noQ>rE_ B) AmZ§X àH$me

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) ì`dgm` ̀ moOZoMo _hÎd.

~) dmT>rÀ`m Q>ß`mMo ì`dñWmnZ.

H$) ì`dgm` g§H$Q>m§Mo àH$ma.

S>) ñQ>mQ>©-AnMr CXmhaUo.

àíZ àíZ àíZ àíZ àíZ 3) A) ì`dgm` `moOZm åhUOo H$m`? ì`dgm` `moOZoMr C{X²Xï>o ñnï> H$am. [8]

~) B.Ama.E_. À`m A§_b~OmdUrVrb AmìhmZo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ì`dgm` AmOma H$m` Amho? ì`mdgm{`H$ AmOmamMr {d{dY H$maUo ñnï> H$am. [8]

~) ñQ>mQ>©-An B§{S>`mgmR>r H$m` H$amdo Am{U H$ê$ Z ò ho ñnîQ> H$am. [7]





Q1) Fill in the blank with most appropriate word in the bracket (any 5) : [5]

a) The Supply of Agricultural Product is __________.

(Uncertain, Regular, Certain)

b) __________ act gives the right to the police to arrest in case of
infringement of the trademark.

(Trademark, Competition, BIS)

c) __________ is given the importance in the global market.

(Generalization, Specialization, Taxation)

d) The smooth functioning of buying and selling through internet requires
___________ marketing.

(Internet, Cyber Security, Document)

e) Patent is one of the ___________.

(Prestige, Property, Intellectual Property)

f) _________ is the process of dividing the product into lot which are of
similar characteristics in shape, size, type, weight, quality and
performance.

(Storage, Transportation, Grading)
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Q2) Match a Group : [5]

a) Agricultural Marketing i) Dominance of Multinationals

b) Global Market ii) Prevents Adware

c) Patent iii) Use of Primitive techniques of
production

d) Cyber Security iv) Right granted for invention

e) Bureau of Indian Standard Act v) Standardization

Q3) Write Short Notes on (Any Two) : [10]

a) Agricultural Marketing

b) Trademark Act 1999

c) Global Marketing strategy issues

d) Advantages of Cyber Security Marketing

Q4) a) Explain the various Functions in the agricultural marketing system.
[8]

b) Explain the Indian Patent (Amendment) Act 2005. [7]

Q5) a) Explain difference between Global Marketing and International
Marketing. [8]

b) What are the essentials to develop Cyber security marketing strategies.
[7]


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJr H§$gmVrb `mo½` n`m©̀  dmnê$Z {dYmZo nyU© H$am. (H$moUVohr nmM) [5]

A) H¥$fr dñVyMm nwadR>m ................ AgVmo.

(A{ZpíMV, {Z`{_V, {ZpíMV)

~) ì`mnmar {MÝhm~m~V C„§KZ Pmë`mg ............... H$m`Xm nmo{bgm§Zm AQ>H$ H$aÊ`mMm
A{YH$ma XoVmo.

(ì`mnmar {MÝho, ñnYm©, ^maVr` _mZH$ H$m`Xm)

H$) ................ bm OmJ{VH$ ~mOmanoR>oV _hËd {Xbo OmVo.

(gm_mÝ`rH$aU, {deofrH$aU, H$aàUmbr)

S>) B§Q>aZoQ>Ûmao hmoUmar IaoXr-{dH«$s gwairVnUo nma nmS>Ê`mgmR>r {dnUZ{df`H$ ..............
_hËdmMr R>aVo.

(B§Q>aZoQ>, gm`~a gwajm, H$mJXnÌo)

B) noQ>§Q> hr EH$ àH$maMr ............... Amho.

(à{Vð>m, _mb_Îmm, ~m¡{ÕH$ g§nXm)

\$) .............. {h EH$ à{H«$`m Amho Á`m_Ü ò dñVy§Mo dJuH$aU {VÀ`m d¡{eï>o, AmH$ma, àH$ma,
dOZ, JwUdÎmm Am{U H$m ©̀àUmbrÛmao hmoVo.

(gmR>dUyH$, dmhVyH$, joUrH$aU)

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) OmoS²>`m bmdm. [5]

A) H¥$fr {dnUZ i) ~hþamï´>r` H§$nÝ`m§Mo dM©ñd

~) OmJ{VH$ ~mOmanoR> ii) ÌmgXm`H$ àmoJ«m_nmgyZ gwa{jVVm

H$) noQ>§Q> iii) CËnmXZmV OwZmQ> V§Ìm§Mm dmna

S>) gm`~a gwajm iv) emoYmgmR>r {Xbobm A{YH$ma

B) ^maVr` _mZH$ ã ẁamo H$m`Xm v) à_mUrH$aU

àíZ àíZ àíZ àíZ àíZ 3) Q>rnm {bhm. (H$moUË`mhr XmoZ) [10]

A) H¥$fr {dnUZ

~) ì`mnmar {MÝho H$m`Xm 1999

H$) OmJ{VH$ {dnUZ YmoaU g_ñ`m

S>) gm`~a gwajm  {dnUZmMo \$m`Xo

àíZ àíZ àíZ àíZ àíZ 4) A) H¥$fr {dnUZ nÕVrVrb {d{dY H$m ©̀ ñnï> H$am. [8]

~) ^maVr` noQ>§Q> Xþê$ñVr H$m`Xm 2005 ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 5) A) OmJ{VH$ {dnUZ d Am§Vaamï´>r` {dnUZ `mVrb \$aH$ ñnï> H$am. [8]

~) gm`~a gwajm {dnUZ YmoaU {dH${gV H$aÊ`mÀ`m Amdí`H$Vm gm§Jm. [7]





Q1) A) Fill in the blanks (Attempt any 5 out of 6) : [5]
i) Which of the following is not the characteristics of agricultural

labour?
a) Unorganized b) Economically exploited
c) High standard of living d) Low education

ii) What are the problems of agricultural labour in India?
a) Seasonal employment b) Indebtedness
c) Low social status d) All of the above

iii) The conflict and disputes between employers and employees on
any industrial matters are known as _________.
a) Political relations b) Human relations
c) Social relations d) Industrial relations

iv) Absence of strikes and lock-outs in an indicator of ________.
a) Peaceful Industrial Relations
b) Disturbed Industrial Relations
c) Unwanted Industrial Relations
d) Partial Industrial Relations

v) The industrial disputes act in India was passed in ______.
a) 1926 b) 1946
c) 1947 d) 1948

vi) The make in India Initiative was launched by prime Minister in ____.
a) 2017 b) 2020
c) 2014 d) 2012
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B) Match the following : [5]

i) FPO a) 2019
ii) Farm bill b) Farmers Organization
iii) Maharashtra Industrial Policy c) Agricultural Labour
iv) Low Education d) 2020
v) Industrial disputes e) Conflict between employer &

Labour

Q2) Write a short note (Any 2 out of 4) : [10]

a) Causes of Industrial disputes.
b) Impact of climate an agriculture.
c) Water management initiatives.
d) Types of agricultural labour.

Q3) a) Describe the problems of agricultural labour. [8]

b) Explain in detail the impact of Covid-19 pandamic on agricultural sector
of India. [7]

Q4) a) Explain the remedies to resolve the industrial disputes in India. [8]

b) Define Industrial relations. Explain the historical background of Industrial
relations. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) Imbrbn¡H$s H$moUVo eoV_Owam§Mo d¡{eï> Zmhr.

A) Ag§K{Q>V ~) Am{W©H$ Ñï>çm emo{fV
H$) Cƒ amhUr_mZ S>) Aën{ejU

ii) ^maVmVrb eoV_Owam§Mo H$moUVo àíZ AmhoV.
A) h§Jm_r amoOJma ~) H$O©~mOmar nUm
H$) Aën gm_m{OH$ XOm© S>) gd©

iii) H$moUË`mhr Am¡Xçmo{JH$ ~m~rdê$Z _mbH$ d H$m_Jma `m§À`mV hmoUmè`m g§Kfm©g
.............. Ago åhUVmV.
A) amOH$s` g§~§Y ~) _mZdr g§~§Y
H$) gm_m{OH$ g§~§Y S>) Am¡Xçmo{JH$ g§~§Y

iv) g§n d Q>mio~§XrMm A^md hm ............... Mm {ZX}eH$ Amho.
A) em§VVm_` Am¡Xçmo{JH$ g§~§Y ~) Aem§V Am¡Xçmo{JH$ g§~§Y
H$) AZno{jV Am¡Xçmo{JH$ g§~§Y S>) A§eV: Am¡Xçmo{JH$ g§~§Y

v) ^maVm_Ü ò Am¡Xçmo{JH$ g§Kf© H$m`Xm .............. `m dfu g§̂ d Pmbm.
A) 1926 ~) 1946
H$) 1947 S>) 1948

vi) n§VàYmZm§Zr _oH$ BZ B§{S>`m `moOZm .............. `mdfu Om{ha Ho$br.
A) 2017 ~) 2020
H$) 2014 S>) 2012
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~) `mo½` OmoS>çm bmdm. [5]

i) FPO A) 2019

ii) H¥$fr {dYo`H$ ~) eoVH$ar g§KQ>Zm

iii) _hmamï´> Am¡Xçmo{JH$ YmoaU H$) eoV_Oya

iv) Aën{ejU S>) 2020

v) Am¡Xçmo{JH$ g§Kf© B) _mbH$ d H$m_Jma dJm©Vrb g§Kf©

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Am¡Xçmo{JH$ g§Kfm©Mr H$maUo

~) hdm_mZmMm eoVrdarb n[aUm_

H$) Ob ì`dñWmnZ nwT>mH$ma

S>) eoV_Owam§Mo  àH$ma

àíZ àíZ àíZ àíZ àíZ 3) A) eoV_Owam§À`m g_ñ`m {deX H$am. [8]

~) ^maVmÀ`m H¥$frjoÌmdarb H$mo{dS> - 19 _hm_m[aMo n[aUm_ g{dñVanUo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVmVrb Am¡Xçmo{JH$ g§Kfm©À`m {ZdmaUmgmR>r Cnm``moOZm ñnï> H$am. [8]

~) Am¡Xçmo{JH$ g§~§Y - ì`m»`m Xçm. Am¡Xçmo{JH$ g§~§YmMr Eo{Vhm{gH$ nmíd©̂ y_r ñnï> H$am.
[7]





Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define defence management.

b) Write the full form of HSTDV.

c) What is logistic management?

d) What is decision making?

e) Define ‘Strategic’ Drones.

f) Define non military organisation

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Logistic management

b) India’s hypersonic projects

c) Ministry of defence

d) Military organisation

e) ToT (Transfer of Technology)
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain about Electric Propulsion Technology.

b) State principles of non military organisation.

c) State principles of military organisation.

d) Explain types of military organisation.

e) State the Organisational aspects of decision making.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail decision making in Indian armed forces

b) Explain in detail problems of prospectus of arms production in India.

c) Explain in detail Major Defence Collaboration in Work to Manufacture
Sophisticated, Modern Equipment in India.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5 × 2 = 10]

A) g§ajU ì`dñWmnZ ì`m»`m H$am.

~) HSTDV Mo nyU© ñdê$n {bhm.

H$) nwadR>m ì`dñWmnZ åhUOo H$m`?

S>) {ZU©̀  à{H«$`m åhUOo H$m`?

B) "ñQ´>°Q>o{OH$' S´>moZMr ì`m»`m H$am.

\$) {~Ja bîH$ar g§KQ>Zm ì`m»`m Úm.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) nwadR>m ì`dñWmnZ

~) ^maVmMo hm`nagm°{ZH$ àH$ën

H$) g§ajU _§Ìmb`

S>) bîH$ar g§KQ>Zm

B) ToT (V§ÌkmZmMo hñVm§VaU)

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4 × 5 = 20]

A) BbopŠQ´>H$ àmonëeZ V§ÌkmZ ñnï> H$am.

~) {~Ja bîH$ar g§KQ>ZoMr _ybVÎdo gm§Jm.

H$) bîH$ar g§KQ>ZoMr _ybVÎdo gm§Jm.

S>) bîH$ar g§KQ>ZoMo àH$ma ñnï> H$am.

B) {ZU©̀  à{H«$ òVrb g§KQ>ZmË_H$ KQ>H$ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2 × 10 = 20]

A) ^maVr` goZmXbmVrb {ZU©̀  à{H«$`m g{dñVa ñnï> H$am.

~) ^maVr` goZmXbm§gmR>rÀ`m g§ajU CËnmXZmVrb g_ñ`m g{dñVa ñnï> H$am.

H$) ^maVmVrb AË`mYw{ZH$, AmYw{ZH$ CnH$aUo V`ma H$aÊ`mÀ`m H$m_mVrb à_wI g§ajU
ghH$m`m©Mo Vnerbdma dU©Z H$am.





Q1) A) Fill in the Blanks (Attempt any 5 out of 7) : [5]
i) A tourist who travels within the boundaries of his own country is

called a _______ tourist.

a) Inbound

b) Outbound

c) Domestic

ii) Validator Plate is issued to -

a) Airlines

b) BSP

c) Travel agents

iii) IATO stands for _______.

a) International Association of Tour Operator

b) Indian Association of Tour Operator

c) Indian Association of Tourism Organisation

iv) Travel propensity is a measure of ________.

a) The percentage of a population engaging in tourism

b) The ratio of day trip to overnight visits.

c) Frequency of travel of a population

v) A person travelling abroad should compulsorily need a

a) Ticket

b) Insurance

c) Visa
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vi) Prospecting is one of the _______ skills required in tourism.

a) Sales technique

b) Buying technique

c) Analysing technique

vii) The importance of International Tourism is ________.

a) Incidence of crime

b) Revenue to the Government

c) Gambling

B) Match the Following. [5]

i) UNWTO a) Mumbai

ii) TAAI b) New Delhi

iii) IATO c) Geneva

iv) ITDC d) Madrid

v) ICAO e) Montereal

f) New Delhi

Q2) Write Short notes (Any 2 Out of 4) : [10]

a) Factors influencing Tourist Transport Selection

b) Types Tour Operator

c) Tourist Accommodation

d) Functions of IATO

Q3) a) Describe types of transport. [8]

b) State the importance of Tour Operator. [7]

Q4) a) State the Role of Accommodation sector in Tourism. [8]

b) State the functions of UNWTO. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (7 n¡H$s H$moUVohr 5) [5]

i) Omo n ©̀Q>H$ Amnë`m XoemÀ`m hÔrV àdmg H$aVmo Ë`mbm ........ n ©̀Q>H$ åhUVmV.

A) A§VJm©_r

~) naXoer

H$) KaJwVr / ñdXoer

ii) "ìh°{bS>oQ>a ßboQ>' .......... `m§Zm Omar Ho$br OmVo.

A) {d_mZgodm

~) ~r Eg nr

H$) àdmer _Ü`ñV

iii) Am`EQ>rAmo (IATO) Mo {dñVm[aV ê$n ...........

A) Am§Vaamï´>r` Qy>a MmbH$ g§KQ>Zm

~) ^maVr` Qy>a MmbH$ g§KQ>Zm

H$) ^maVr` n ©̀Q>Z g§KQ>Zm

iv) àdmgr àd¥Îmr ho EH$ ......... Mo _moO_mn Amho.

A) n ©̀Q>Zm_Ü ò Jw§Vboë`m bmoH$g§» òMr Q>ŠHo$dmar

~) amÌrÀ`m ôQ>rgmR>r {XdgmÀ`m ghbrMo JwUmoËVa

H$) bmoH$g§» òÀ`m àdmgmMr dma§dmaVm
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v) naXoemV àdmg H$aUmè`m ì`ŠVrbm ......... Mr Amdí`H$Vm AgVo.
A) {VH$sQ>
~) {d_m
H$) pìhgm

vi) "àm°ñnopŠQ>¨J' ho n ©̀Q>ZmgmR>r Amdí`H$ Agboë`m ....... H$m¡eë`m§n¡H$s EH$ Amho.
A) {dH«$s V§Ì
~) IaoXr V§Ì
H$) {díbofU V§Ì

vii) Am§Vaamï´>r` n ©̀Q>ZmMo _hÎd ....... Amho.
A) JwÝhoJmarMo à_mU
~) gaH$mabm {_iUmam _hgyb
H$) OwJma

~) OmoS>`m Owùdm. [5]
i) UNWTO A) _w§~B©
ii) TAAI ~) Zdr {Xëbr
iii) IATO H$) {OZodm
iv) ITDC S>) _°{S´>S>
v) ICAO B) _moZVoaò b

\$) Zdr {Xëbr

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (4 n¡H$s H$moUVohr 2) … [10]
A) n ©̀Q>H$ dmhVyH$ {ZdS>rda n[aUm_ H$aUmao KQ>H$
~) Qy>a Am°naoQ>aMo àH$ma
H$) n ©̀Q>H$ {Zdmg
S>) IATO Mr H$m }̀

àíZ àíZ àíZ àíZ àíZ 3) A) dmhVwH$sÀ`m àH$mam§Mo dU©Z H$am. [8]
~) Qy>a Am°naoQ>g©Mo _hÎd gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) n ©̀Q>ZmV {Zdmg joÌmMr ŷ{_H$m ñnï> H$am. [8]
~) UNWTO Mr H$m }̀ gm§Jm. [7]





Q1) A) Fill in the blanks : [5]
i) ________ is a set of tools and practices that you can use to protect

your digital and analog information

a) Information security b) Protection rules

c) Protocols d) Breach

ii) ___________ is the activity of electronically buying or selling of
products on online services or over the Internet.

a) E-Shopping b) E-Commerce

c) E-Banking d) E-learning

iii) Trading in the financial markets through the internet is known as
_________

a) electronic trading b) manual trading

c) on the job trading d) off the job trading

iv) The process of selling and buying products over the _______
platform is known as online shopping.

a) Local b) market

c) internet d) national

v) _________ is advertising that uses the Internet and other forms
of digital media to help a business promote and sell goods and
services.

a) Press advertising b) Media advertising

c) Mass advertising d) Electronic advertising
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B) Match the following. [5]

i) Digital Cash network security device

ii) TCP/IP Google

iii) Virus E Currency

iv) Firewall communications protocol

v) Search engine malicious software

Q2) Short notes (Any 2 out of 4) : [10]

a) Information security threats

b) Network infrastructure

c) Mobile Commerce

d) Role of Digital Marketing

Q3) a) Explain insecure network connections and password cracking. [8]

b) What is E-Commerce and Explain Application of 5 Ps. [7]

Q4) a) What are search engines? Why are they useful. [8]

b) What is E-Learning? Explain its pros and cons. [7]





Q1) A) Multiple choice questions (answer any 5) : [5]
i) ABC analysis is used in _____________

a) CMP b) PERT
c) Inventory control

ii) ________is the backbone of production planning and control.
a) Material Requisition planning
b) Economic order quantity
c) Value chain Analysis

iii) _________ is a set of management tools and techniques designed
to improve production process.
a) Six sigma b) Quality management
c) ABC analysis

iv) __________ is a term used in logistic and warehouse.
a) ABC analysis b) Cross Docking
c) Value chain process

v) Which of the following models is used to calculate the timing of the
inventory order?
a) Economic order quantity model
b) Reorder point model
c) Fixed order inventory model

Total No. of Questions : 4]
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vi) Most important element for production process is __________
a) Finance b) Raw material
c) Machinery

vii) ________is an activity by which goods and services are produced
a) Production b) Purchase
c) Marketing

B) Match the following (any 5) : [5]
          Group A        Group B

i) T.Q.M. a) Delivery of Goods
ii) Quality management b) Total quality management
iii) Supply chain management c) Quality control
iv) Inventory management d) Maximize profit
v) Plant layout e) Controlling cost
vi) EOQ f) Manufacturing process
vii) Production planning g) Economic order quantity

Q2) Write short notes (any two) : [10]
a) Modes of transport.
b) Economic order quantity.
c) Advantages of plant layout.
d) Objectives of production control.

Q3) a) Explain the various techniques used in plant layout. [8]
b) Explain in detail functions of production management. [7]

Q4) a) Discuss the use of computers in inventory management. [8]
b) Explain the various stages of supply chain management. [7]


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àíZ 1) A) ~hþn¶m©¶r àíZ. (H$moUVohr nmM) [5]
i) A ~ H$ {díbofU .............. gmR>r dmnabo OmVo.

A) gr.nr.E‘. ~) nr.B©.Ama.Q>r.
H$) gmR>m {Z¶§ÌU

ii) ............ hm CËnmXZ {Z¶moOZ Am{U {Z¶§ÌUmMm H$Um Amho.
A) gm‘J«r JaO {Z¶moOZ ~) ‘mJUrMo Am{W©H$ J{UV
H$) ‘wë¶ gmIir {Z¶§ÌU

iii) .............ho CËnmXZ à{H«$¶m gwYmaÊ¶mgmR>r Agboë¶m gmYZm§Mm d YmoaUm§Mm EH$
g§M Amho.
A) {g³g {g½‘m ~) JwUdÎmm ì¶dñWmnZ
H$) A ~ H$ d{J©H$aU

iv) ............ hr g§km bm°{OpñQ>³g d JmoXm‘o ¶mgmR>r dmnabr OmVo.
A) A ~ H$ {díbofU ~) H«$m°g S>m°qH$J
H$) ìh°ë¶y MoZ à{H«$¶m

v) ‘mbgmR>m ‘mJUr doioMr JUZm H$aÊ¶mgmR>r Imbrbn¡H$s H$moUVo ‘m°S>ob dmnabo
OmVo?
A) BH$m°Zm°{‘H$ AmS>©a ³dmpÝQ>¨Q>r ‘m°S>ob
~) [aAm°S>©a nm±B©Q> ‘m°S>ob

H$) {’$³g Am°S>©a BÝìh|Q>ar ‘m°S>ob
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vi) CËnmXZ {Z{‘©VrgmR>r bmJUmam ‘hËdmMm KQ>H$ åhUOo ............. hmo¶.
A) {dÎm ~) H$ƒm ‘mb
H$) ¶§Ìgm‘«Jr

vii) ............. hr EH$ {H«$¶m Amho, Á¶mÛmao dñVy d godm§Mo CËnmXZ Ho$bo OmVo.
A) CËnmXZ ~) IaoXr
H$) {dnUZ

~) OmoSçm bmdm. (H$moUË¶mhr nmM) [5]
JQ> "A' JQ> "~'

i) Q>r ³¶y E‘ A) dñVyMo {dVaU

ii) JwUdÎmm ì¶dñWmnZ ~) Q>moQ>b ³dm{bQ>r ‘°ZoO‘|Q>

iii) {dVaU gmIir ì¶dñWmnZ H$) JwUdÎmm {Z¶§ÌU

iv) ‘mbgmR>m ì¶dñWmnZ S>) OmñVrMm Z’$m

v) ¶§ÌHw$b B) IM© {Z¶§ÌU

vi) B©.Amo.³¶y. ’$) CËnmXZ à{H«$¶m

vii) CËnmXZ {Z¶moOZ J) BH$m°Zm°{‘H$ Am°S>©a ³dmpÝQ>¨Q>r

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) dmhVwH$sMo ‘mÜ¶‘.

~) ‘mJUrMo Am{W©H$ J{UV.

H$) ¶§ÌHw$bmMo ’$m¶Xo

S>) CËnmXZ {Z¶§ÌUmMr C{Ôï>o

àíZ 3) A) ¶§ÌHw$bmMr {d{dY V§Ìo ñnï> H$am. [8]
~) CËnmXZ ì¶dñWmnZmMr H$m¶©o ñnï> H$am. [7]

àíZ 4) A) ‘mbgmR>m ì¶dñWmnZmV g§JUH$s¶ Cn¶moJ H$gm hmoVmo Vo g{dñVa ñnï> H$am. [8]
~) {dVaU gmIirMo Q>ßno g{dñVa ñnï> H$am. [7]





Q1) A) Fill in the blanks (any 5) : [5]
i) The receiving of unsolicited bulk email is known as __________.

a) Virus b) Spoofing
c) Spam d) Worms

ii) ___________ can file a criminal case against the drawer of a
dishonoured cheque.
a) The payee b) The holder in due course
c) Both of the above d) The paying banker

iii) A collecting banker is given protection only with the collects______
a) A crossed cheque b) An order cheque
c) An bearer cheque d) An multilated cheque

iv) The number has a statutory obligation to _________
a) Honour customs cheque
b) Exercise lien
c) Maintain secrecy of his customers account
d) Honour customers bill

v) Secured loan is one in which you get loan against an _________
you possess.
a) Liability b) Debt
c) Asset d) Income

vi) _________ is defined as a crime in which computer is the medium
of crime .
a) Computer crime b) cyber crime
c) Internet crime d) Digital crime
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B) Match the following : [5]
i) Cyber cirme a) 2000
ii) Information technology act b) Collection of cheques
iii) Collecting Bank c) Email spoofing
iv) Types of Bank customer d) One time settlement of dues
v) Non legal measures e) Partnership firm & companies

Q2) Write a short note (any 2) : [10]
a) Reasons of cyber crime in banking
b) Collecting bankers duties
c) Garnisee order
d) Legal measures of recovery.

Q3) a) Explain relationship between banker and customer. [8]
b) Explain types of cyber crime in Banking. [7]

Q4) a) Explain precautions to be taken while doing payment of cheques. [8]
b) Explain modes creating charges. [7]


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àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) Adm§{N>V ‘moR>çm à‘mUmV àmá Pmbobo B©-‘ob ho .......... åhUyZ AmoiIbo OmVo

A) dm¶ag ~) ñnwq’$J
H$) ñn°‘ S>) dåg©

ii) AZmXa Ho$bobm MoH$ H$mT>Umè¶mda ’$m¡OXmar IQ>bm ........... XmIb H$ê$ eH$Vmo.
A) AmXmVm ~) ¶mo½¶ YmaH$
H$) darb XmoÝhr S>) àXm¶r ~±H$

iii) dgwbr ~±Ho$bm VoìhmM g§ajU {Xbo OmVo Ooìhm Vr ........... Jmoim H$aVmo.
A) aoIm§{H$V YZmXoe ~) AmXoe YZmXoe
H$) dmhH$ YZmXoe S>) ~hþ̂ mJr YZmXoe

iv) ~±Ho$bm ........... H$aÊ¶mMo d¡Ym{ZH$ ~§YZ Amho.
A) J«mhH$m§À¶m YZmXoemMm gÝ‘mZ
~) YmaUm{YH$mamMm gamd
H$) J«mhH$m§À¶m ImË¶m§Mr JwáVm amIUo
S) J«mhH$m§À¶m {~bm§Mm gÝ‘mZ H$aUo

v) gwa{jV H$O© ho Ago H$O© Amho H$s Á¶m‘Ü¶o Vwåhmbm............ Vw‘À¶m ‘mbH$sMo
H$O© {‘iVo.
A) Xm{¶Ëd ~) H$O©
H$) ‘mb‘Îmm S>) CËnÞ

vi) ............. ì¶m»¶m Á¶m‘Ü¶o g§JUH$ ho JwÝømMo ‘mÜ¶‘ Amho.
A) g§JUH$ JwÝho ~) gm¶~a JwÝho
H$) B§Q>aZoQ> JwÝho S>) {S>{OQ>b JwÝho

3 P.T.O.
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~) OmoSçm Owidm. [5]
i) gm¶~a H«$mB©‘ A) 2000

ii) ‘m{hVr V§ÌkmZ H$m¶Xm ~) YZmXoe Jmoim H$aUo

iii) dgwbr ~±H$ H$) B©-‘ob-ñnwq’$J

iv) ~±H$ J«mhH$m§Mo àH$ma S>) EH$ a³H$‘r naV’o$S> ¶moOZm

v) {~Ja H$m¶Xoera Cnm¶ ¶moOZm B) ^mJrXmar ’$‘© Am{U H§$nZr

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ~±H$ ì¶dgm¶ joÌmVrb gm¶~a JwÝøm§Mr H$maUo.

~) dgwbr ~±Ho$Mr H$V©ì¶

H$) H$O©‘w³VrMm AmXoe

S>) dgwbrMo H$m¶Xoera Cnm¶

àíZ 3) A) ~±H$ d J«mhH$ ¶mVrb ZmVog§~§Y ñnï> H$am. [8]
~) ~±H$ ì¶dgm¶ joÌmVrb gm¶~a JwÝøm§Mo àH$ma ñnï> H$am. [7]

àíZ 4) A) J«mhH$mÀ¶m YZmXoemMr a¸$‘ AXm H$aVmZm ¿¶md¶mMr H$miOr g{dñVa ñnï> H$am. [8]
~) H$O©̂ ma {Z‘m©U H$aÊ¶mÀ¶m nÕVr ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (Any Five) : [5]
i) A final dividend is declared by the ________ of a company at its

annual general meeting.
(Directors, Members, Creditors)

ii) Dividend has to be paid within ______ days from the date of declaration.
(30 days, 90 days, 21 days)

iii) _______ means attempt is being made to give different form by
reshaping the accounts.
(Reopening, Recasting, Revision)

iv) The first auditor is appointed by Comptroller and Auditor General
of India (C&AG) in case of _______ Company.
(Government, Public, Private)

v) Minimum number of directors in the case of a private company is
________ directors.
(2, 3, 5)

vi) The _________ is the heart and soul of the company / firm.
(Creditors, Shareholders, Board of directors)

B) Match the following. [5]
Column A Column B

i) To protect investors’ interests a) Board of Directors
and promote awareness

ii) Right to reopen the financial b) Full - Time working Director
statements

iii) Appointment of Auditor c) Section 169
iv) Executive Director d) Investor Education and

Protection Fund
v) Removal of Director e) Central Government
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Q2) Write a short note (Any two) : [10]

a) Investor Education and Protection Fund

b) Re-opening of accounts on court’s or Tribunal’s orders.

c) Duties of Auditor

d) Qualification of Directors

Q3) a) What is Dividend? Explain the provisions related to declaration &
payment of dividend. [8]

b) Explain the provisions regarding Constitution of National Financial
Reporting Authority. [7]

Q4) a) Explain the provisions related to removal and resignation of auditor.[8]

b) What is Director? Explain the provisions related to disqualifications
for appointment of Director? [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) A§{V_ bm^m§e H§$nZrÀ`m .......... Ûmao {VÀ`m dm{f©H$ gd©gmYmaU g ôV Kmo{fV

Ho$bm OmVmo.
(g§MmbH$, g^mgX, G$UH$mo)

ii) bm^m§e Kmo{fV Ho$ë`mÀ`m VmaIonmgyZ ......... {Xdgm§V AXm Ho$bm nm{hOo.
(30 {Xdg, 90 {Xdg, 21 {Xdg)

iii) .......... åhUOo ImË`m§Mo AmH$ma ~XbyZ doJio ñdê$n XoÊ`mMm à`ËZ Ho$bm OmV Amho.
(nwÝhm CKS>Uo, nwZa©MZm H$aUo, nwZamd¥ËVr)

iv) .......... H§$nZrÀ`m ~m~VrV ^maVmMo {Z §̀ÌH$ Am{U _hmboImnarjH$ (C&AG)
Ûmao àW_ boImnarjH$mMr {Z ẁº$s Ho$br OmVo.
(gaH$mar, gmd©O{ZH$>, ImOJr)

v) ImOJr H§$nZrÀ`m ~m~VrV {H$_mZ g§MmbH$m§Mr g§»`m .......... g§MmbH$ AgVo.
(2, 3, 5)

vi) ............ ho H§$nZrMo/g§ñWoMo öX` Am{U AmË_m Amho.
(G$UH$mo, ^mJYmaH$, g§MmbH$ _§S>i)

~) `mo½` OmoS>²̀ m Owidm. [5]
aH$mZm A aH$mZm ~

i) Jw§VdUyH$Xmam§À`m {hVmMo ajU A) g§MmbH$ _§S>i
H$aUo Am{U OmJê$H$Vm dmT>dUo

ii) Am{W©H$ {ddaU nÌo nwÝhm ~) nyU© doi H$m ©̀aV g§MmbH$
CKS>Ê`mMm A{YH$ma

iii) boImnarjH$mMr {Z ẁº$s H$) H$b_ 169
iv) H$m ©̀H$mar g§MmbH$ S>) Jw§VdUyH$Xma {ejU Am{U g§ajU {ZYr
v) g§MmbH$mMr hH$mbnÅ>r B) H|$Ð gaH$ma

3 P.T.O.



[6032]-620 4

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Jw§VdUyH$Xma {ejU Am{U g§ajU {ZYr

~) Ý`m`mb`mÀ`m qH$dm Ý`m`m{YH$aUmÀ`m AmXoemZwgma ImVr nwÝhm CKS>Uo

H$) A§Ho$jH$mMr H$V©ì ò

S>) g§MmbH$mMr nmÌVm

àíZ àíZ àíZ àíZ àíZ 3) A) bm^m§e åhUOo H$m`? bm^m§e Kmo{fV Am{U AXm H$aÊ`m~m~VÀ`m VaVwXr ñnï> H$am.[8]

~) amï´>r` Am{W©H$ Ahdmb Ý`m`m{YH$aUmÀ`m KQ>Zog§X^m©Vrb VaVwXr ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) A§Ho$jH$mMr hH$mbnÅ>r H$aUo Am{U amOrZm_m XoUo `mg§~§YrÀ`m VaVwXr ñnï> H$am. [8]

~) g§MmbH$ åhUOo H$m`? g§MmbH$mÀ`m {Z ẁº$sgmR>r AnmÌVo~m~VÀ`m VaVwXr ñnï> H$am.[7]





Q1) A) Fill in the blanks (Any Five) : [5]
i) Financial Management is concerned with the efficient use of _____.

a) share capital
b) current assets
c) an important economic resource
d) profit

ii) The main function of the financial managers are _________.
a) Utilisation of funds b) Manpower planning
c) Profit planning d) Market planning

iii) The most important source of Co-operative finance are ______.
a) Contribution of Government
b) Members and Investors
c) Borrowings & Loans
d) Revenue Receipts

iv) The finance manager is accountable for ________.
a) Earning Capital Assets
b) Management of fund
c) Arrangement of financial resources
d) Proper Utilisation of funds

v) Co-operative Audit is a examination of financial transaction of _____.
a) Business concern b) Private undertakings
c) Co-operative society d) Company

vi) The appointment of an Auditor is done by _______.
a) Central Government
b) State Government
c) Registrar of Co-operative society
d) Board of Directors

Total No. of Questions : 4]
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B) Match the following pairs : [5]
           'A'        'B'

i) Financial Management a) Audit of Society
ii) Financial planning b) Appointed for Co-operative

Society Audit
iii) Capital and funds c) Management of Co-operative

finance
iv) Co-operative Audit d) Planning of funds
v) Co-operative Auditor e) Sources of finance

Q2) Write short notes (Any Two) : [10]
a) Sources of Co-operative finance.
b) Characteristics of financial planning.
c) Need of financial control.
d) Provisions of Co-operative law relating to audit.

Q3) a) Distinguish between corporate finance and Co-operative finance. [8]
b) State the estimation of financial Requirement. [7]

Q4) a) State the policy of operating expenditure in Co-operative society. [8]
b) State the powers and duties of Co-operative auditor. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) {d{Îm` ì`dñWmnZ ........... Mm H$m ©̀j_nUo dmnamer g§~§YrV Amho.

A) ^mJ ^m§S>db ~) Mmby _mb_Îmm

H$) _hËdmMm Am{W©H$ ñÌmoV S>) Z\$m

ii) {d{Îm` ì`dñWmnH$mMo ............. ho à_yI H$m ©̀ Amho.

A) {ZYrMm dmna ~) _Zyî`~i {Z`moOZ

H$) Z\$m {Z`moOZ S>) ~mOma {Z`moOZ

iii) ghH$mam_Ü ò ............ hm à_yI {d{Îm` ñÌmoV AgVmo.

A) gaH$mar `moJXmZ ~) g^mgX Am{U J§wVdUwH$Xma

H$) H$Om©D$ aŠH$_ S>) _hgybr àmár

iv) {d{Îm` ì`dñWmnH$ ............... bm CÎmaXm`r AgVmo.

A) ^m§S>dbr g§nÎmr {_i{dUo ~) ZrYrMo ì`dñWmnZ

H$) {d{Îm` ñÌmoVm§Mr H«$_dmar S>) ZrYrMm `mo½` {d{Z`moJ

v) ghH$mar boImnarjU åhUOo .............. À`m {d{Îm` ì`dhmam§Mo narjU hmò .

A) ì`dgm` g§ñWm ~) ImOJr CXçmoJ

H$) ghH$mar g§ñWm S>) H§$nZr

vi) A§Ho$jH$mMr {Z ỳŠVr hr ............. Ûmao Ho$br OmVo.

A) Ho$ÝÐ gaH$ma ~) amÁ` gaH$ma

H$) gmogm`Q>r a{OñQ´>ma ({Z~§YH$) S>) g§MmbH$ _§S>i

3 P.T.O.
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~) Imbrb OmoS>çm bmdm. [5]
"A'     "~'

i) {d{Îm` ì`dñWmnZ A) gmogm`Q>rMo A§Ho$jU
ii) {d{Îm` {Z`moOZ ~) ghH$mar gmogm`Q>r A§Ho$jUmgmR>r

{Z ỳŠVr
iii) ^m§S>db Am{U ZrYr H$) ghH$mamVrb {dÎm ì`dñWmnZ
iv) ghH$mar boImnarjU S>) {ZYrMo {Z`moOZ
v) ghH$mar A§Ho$jH$ B) {d{Îm` ñÌmoV

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) ghH$mamVrb {d{Îm` ñÌmoV
~) {d{Îm` {Z`moOZmMr d¡{eï>ço
H$) {d{Îm` {Z §̀ÌUmMr JaO
S>) ghH$mar H$m`XçmVrb A§Ho$jU{df`H$ VaVyXr

àíZ àíZ àíZ àíZ àíZ 3) A) H§$nZr {dÎm Am{U ghH$mar {dÎm `m_{Yb \$aH$ gm§Jm. [8]
~) {d{Îm` Amdí`H$VoZygma A§XmOnÌH$ gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ghH$mar g§ñWm§_{Yb X¡Z§XrZ (hmVmiUr) IMm©{df`H$ YmoaU gm§Jm. [8]
~) ghH$mar A§Ho$jH$mMo A{YH$ma Am{U H$V©ì ò gm§Jm. [7]


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Q1) A) Fill in the blanks (any five) [5]

a) _____ may be defined as the difference between Standard Cost
and Actual Cost

i) Variance

ii) Budgetary Control

iii) Marginal Costing

b) Target Costing = Selling Price - (__________)

i) Cost

ii) Profit Margin

iii) Revenue

c) Which of the following method of pricing is popular in wholesale
and retail trades

i) Target Pricing

ii) Full Cost Pricing

iii) Skimming

SEAT No. :

P.T.O.
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d) _____ Standard deals with the principles and methods of determining
the Material Cost.

i) CAS-6

ii) CAS-7

iii) CAS-5

e) Which of the following section of companies Act 2013 deals with
maintenance of costing records

i) Section 140

ii) Section 138

iii) Section 148

f) Cost Auditor is appointed for __________ year

i) Two

ii) Three

iii) One

B) Match the pairs [5]

                 Group A                                               Group B

A XBRL I Always Unfavourable

B Verification of the II Target Cost

correctness of cost accounts.

C Standard established for III Extensible Business

limited period Reporting  Language

D Idle time variance IV Current Standard

E A product cost estimate V Cost Audit

derived from a competitive

market price
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Q2) Write Short Notes (any two): [10]

a) Cost Auditors Rights and Duties

b) CAS 6

c) Importance of Target Costing

d) Cost Management for IT sector

Q3) a) From the following information you are require to Calculate [8]

a) Material Cost variance,

b) Material Price Variance,

c) Material Quantity Variance

d) Verify your answer

                                  Standard                                Actual

Material Qty Rate Amount Qty Rate Amount

A 60 20 1200 75 22 1650

B 40 10 400 30 08 240

Total 100 1600 105 1890

b) Using the following cost data, calculate [7]

i)  Labour Cost Variance

ii) Labour Rate Variance

iii) Labour Efficiency

iv) Idle Time Variance

Standard Hours 1,600

Standard Rate per hour 1.50

Actual Rate 2.00

Actual Hours 1,500

(out of which hours not worked due to abnormality hours)
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Q4) a) Bingo Ltd. Bombay budgets for a production of 1,50,000 units with
variable cost of Rs. 14 p..u..and a fixed cost of Rs.2 p.u.(3,00,000 in
total) The company has decided to fix up its turnover price to get a profit
25% on cost price. [8]

If a company has decided to reduce its selling price by 10% how does
the revised price affect the Profit/Volume Ratio and Break-Even Point.

b) What do you mean by Cost Audit? Explain scope and objectives of Cost
Audit. [7]


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Q1) a) Attempt Fill in the blanks any five of the following : [5]

i) We can maximize profit function by using computation
of______________ function.

ii) If C(x) = 3x4 + 2x3 – 7x +22 is the manufacturer’s total cost equation
then variable cost is _______________________.

iii) PERT is ______________ model.

iv) FCFS is called ___________ discipline.

v) Long form of PERT is ______________________________.

vi) If the total float is zero then corresponding activity is called as
__________ activity.

b) State whether each of the statement given below is true or false: [5]

i) Random numbers are used in simulation theory.

ii) CPM is non-deterministic model.

iii) In queuing theory, we always assume that, average no. of arrivals is
less than average no. of departures.

iv) If C(x) = 31x4 + 42x2 – 71x + 12 is the manufacturer’s total cost
equation then 12 is called variable cost.

v) Collections of critical activities is called critical path

SEAT No. :
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Q2) Attempt any two of the following: [10]

a) Explain the following terms:

i) Node

ii) Revenue function.

iii) Simulation

iv) Distribution of arrivals

v) Service channel

b) If C(x) = 2x4 – x3 + 7x –12 is the manufacturer’s total cost equation, find
the :

i) average cost

ii) fixed cost

iii) variable cost

iv) marginal cost

c) Explain the following terms:

i) Pessimistic time in PERT.

ii) Calling population

iii) Traffic intensity

iv) Market Equilibrium,

v) Optimistic time in PERT.

d) Explain the maxima function with an illustration.

Q3) a) The following table gives the activities in a project and other relevant
information :  [8]

Activity 1-2 1-3 2-5 2-4 3-4 4-5 4-6 5-6 6-7

Duration 5 9 14 4 3 10 12 6 10

Find the earliest start, earliest finish, latest start, latest finish, total float,
free float and independent float for each activity. Also find critical path.
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b) Following is the probability distribution of daily production of items.[7]

Production 0 5 10 15 20 25

Probability of 0.04 0.22 0.16 0.42 0.10 0.06
Production

Using random numbers given below estimate production for next 10 days:
35, 52, 90, 13, 23, 73, 34, 57, 35, 83. Also find average daily production.

Q4) a) Given below is the information about a project regarding different activities.
All time estimates are in days. [8]

Activity 1-2 1-5 2-3 2-4 3-4 4-5 5-6

t0 : 2 3 6 5 5 3 1

t
m
 : 5 12 9 14 8 6 4

tp : 8 21 12 17 11 9 7

i) Determine expected time estimate and variance for each activity.

ii) Given the total estimated completion time as 32 days with variance
5 days.

What is the probability that the project will be completed within 29 days?

b) A self service employees one cashier at its counter. Ten customers arrive
on an average per hour while the cashier can serve 30 customers per
hour. Find: [7]

i) Probability that cashier is idle.

ii) Average time a customer waits before being served.

iii) Average number of customers in queue.

iv) Average number of customers in the system.

v) Probability that a customer has to wait before he gets service.





Q1) A) Fill in the blanks (any 5) : [5]
i) _____________is the foundation of effective teamwork.

a) Communication b) Planning
c) Control

ii) ________allows the entrepreneur to make better, more informed
decisions.
a) Listening b) Problem solving
c) Critical thinking

iii) _________stress reaction occurs when symptoms develop due to
a particularly stressful event.
a) Acute b) Chronic
c) Realistic

iv) An entrepreneur’s primary motivation for starting a business
is__________
a) to make money b) to be famous
c) to be independent

v) __________is the correct depiction of digital marketing.
a) E-mail Marketing b) Social Media Marketing
c) All of the above

vi) __________is used in digital marketing.
a) Electronic devices b) Internet
c) All of the above
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B) Match the following : [5]
          Group A        Group B

i) Corporate training a) Increased responsibility
ii) Cross function teams b) Formal training
iii) Problem solving c) Type of team
iv) Job enrichment d) Digital marketing
v) Online marketing e) Karl Marx

Q2) Write short note (Attempt any two) : [10]
a) Digital Team.
b) Causes of conflict in entrepreneurship.
c) Management by Objectives.
d) Future scope for digital marketing.

Q3) a) What is Team? Explain how to create high performance team. [8]
b) Explain types of conflict management in entrepreneurship. [7]

Q4) a) What is Motivation? Explain employee involvement programme in
entrepreneurship. [8]

b) Explain the four P’s of digital marketing. [7]


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àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) .............. hm à^mdr g§KH$m¶m©Mm nm¶m Amho.

A) g§àofU ~) {Z¶moOZ
H$) {Z¶§ÌU

ii) ............ ho CÚmoOH$mbm A{YH$ Mm§Jbo, A{YH$ ‘m{hVrnyU© {ZU©¶ KoÊ¶mg AZw‘Vr
XoVo.
A) EoH$Uo ~) g‘ñ¶m gmoS>dUo
H$) J§̂ ra {dMma

iii) Ooìhm EImÚm {d{eï> VUmdnyU© KQ>Zo‘wio bjUo {dH${gV hmoVmV Voìhm .............
VUmd à{V{H«$¶m CØdVo.
A) Vrd« ~) OwZmQ>
H$) dmñVddmXr

iv) ì¶dgm¶ gwê$ H$aÊ¶mgmR>r CÚmoOH$m§Mr àmW{‘H$ A{^àoaUm ............ hr Amho.
A) n¡go H$‘mdÊ¶mgmR>r ~) à{gÕ hmoÊ¶mgmR>r
H$) ñdV§Ì AgUo

v) .............. ho {S>{OQ>b {dnUZmMo ¶mo½¶ {MÌU Amho.
A) B©-‘ob {dnUZ ~) gm‘m{OH$ ‘mÜ¶‘o {dnUZ
H$) darb gd©

vi) ............. {S>{OQ>b {dnUZm‘Ü¶o dmnabo OmVo.
A) Bbo³Q´>m°{ZH$ CnH$aUo ~) B§Q>aZoQ>
H$) darb gd©

3 P.T.O.
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~) OmoSçm bmdm. [5]
JQ> "A' JQ> "~'

i) H$m°nm }a oQ> à{ejU A) O~m~Xmar dmT>br

ii) {damoY H$m¶© g§K ~) Am¡nMm[aH$ à{ejU

iii) g‘ñ¶m gmoS>{dUo H$) g§KmMm àH$ma

iv) ZmoH$ar g§nÞVm S>) {S>{OQ>b {dnUZ

v) Am°ZbmBZ {dnUZ B) H$mb© ‘m³g©

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {S>{OQ>b g§K.

~) CÚmoOH$VoVrb g§Kfm©Mr H$maUo.

H$) C{Ôï>m§Zwgma ì¶dñWmnZ

S>) {S>{OQ>b {dnUZmgmR>r ^{dî¶mVrb dmd.

àíZ 3) A) g§K åhUOo H$m¶ Amho? Cƒ H$m¶©j‘Vm g§K H$gm V¶ma H$am¶Mm Vo ñnï> H$am. [8]
~) CÚmoOH$VoVrb g§Kf© ì¶dñWmnZmMo àH$ma ñnï> H$am. [7]

àíZ 4) A) A{^àoaUm åhUOo H$m¶? CÚmoOH$Vo‘Ü¶o H$‘©Mmar gh^mJ H$m¶©H«$‘ ñnï> H$am. [8]
~) {S>{OQ>b {dnUZmMo 4 nr'O ñnï> H$am. [7]





Q1) A) Fill in the blanks (any 5) : [5]
i) In service marketing Hotel, Cinema - Hall, Bank - Insurance travel,

gym etc are part of _____________elements.
a) Product oriented b) Person oriented
c) Quality oriented d) Industry group

ii) As per 7 is the process of which transfer raw material into finished
good is called as ___________
a) Product b) Price
c) Place d) Direct supply

iii) __________ is on elective media in modern marketing.
a) Advertising on Television
b) Direct selling
c) Social media marketing
d) Radio Advertising

iv) __________objective of marketing control is to observe progress
as per decided planning.
a) Primary b) Secondary
c) Final d) Interium

v) From ________ persons can understand and get particular message
and it also provides same message to society.
a) Design b) Art work
c) Tread mark d) Print media

vi) Analytical study of marketing strategy is done in ________.
a) Marketing Audit b) Marketing planning
c) Marketing control d) Marketing organisation
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B) Match the following : [5]
          Column A        Column B

i) Kirtan & sermon a) Techniques of marketing
control

ii) Sowc & variance Analysis b) Principles of design
iii) Facebook & whats-up c) Quality oriented components
iv) Rythm, music & colour d) Historical social media

Combination
v) Legal & medical services e) Social media

Q2) Write a short notes (any 2 out of 4) : [10]
a) Features of social media marketing.
b) Characteristics of Television Advertisement.
c) Objectives of marketing Audit.
d) Product oriented component's in service marketing.

Q3) a) Explain the social media marketing in detail. [8]
b) Explain the principles of design in detail. [7]

Q4) a) Explain the features of service marketing. [8]
b) Define marketing Audit & Explain it's objectives. [7]


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àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) godm {dnUZmV hm°Q>ob, {gZo‘mJ¥h, ~±H$, {d‘m, àdmgr dmhVyH$, Or‘ BË¶mXr godm§Mm

g‘mdoe .............. ¶m KQ>H$m‘Ü¶o Ho$bm OmVmo.
A) dñVy{df¶H$ ~) ì¶{º${Zð>
H$) JwUdÎmm{df¶H$ S>) CX²¶moJg‘yh

ii) 7ps ¶m g§H$ënZoZwgma H$À¶m ‘mbmMo n³¶m ‘mbmV ê$nm§Va H$ê$Z ~mOmanoR>oV
{dH«$sg CnbãY H$aÊ¶mMr à{H«$¶m ........... ¶m KQ>H$mV AgVo.
A) dñVy ~) qH$‘V
H$) {R>H$mU S>) àË¶j nwamdm

iii) AmYw{ZH$ {dnUZmVrb gdm©V à^mdr ‘mÜ¶‘ åhUOo ........... hmo¶.
A) XþaXe©Zdarb Om{hamVr ~) àË¶j {dH«$s
H$) gm‘m{OH$ ‘mÜ¶‘ {dnUZ S>) aoS>rAmo Om{hamVr

iv) R>aboë¶m ¶moOZoà‘mUo àJVr hmoV Amho {H$ Zmhr, ¶mda bj R>odUo ho {dnUZ {Z¶§ÌUmMo
.......... CX²Xrï> Amho.
A) àmW{‘H$ ~) Xþæ¶‘
H$) A§Vr‘ S) A§Var‘

v) .............. Ûmao ì¶º$s¨Zm ¶mo½¶ Vo AmH$bZ hmoD$Z ¶mo½¶ àH$maMm g§Xoe g‘mOmn¶ªV
nmohmoM{dUo A{^àoV AgVo.
A) AmH¥${V ~) H$bmH$mar
H$) ì¶mnma{MÝh S>) N>mnrb ‘mÜ¶‘o

vi) {dnUZ ì¶yhaMZoMm {díbofUmË‘H$ Aä¶mg ............. ‘Ü¶o Ho$bm OmVmo.
A) {dnUZ A§Ho$jU ~) {dnUZ {Z¶moOZ
H$) {dnUZ {Z¶§ÌU S>) {dnUZ g§KQ>Z

3 P.T.O.
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~) OmoSçm Owidm. [5]
JQ> "A' JQ> "~'

i) {H$V©Z Am{U àdMZ A) {dnUZ {Z¶§ÌUmMr V§Ìo

ii) ñdm°H$ Am{U g§~§Y {díbofU ~) AmH¥${V {df¶H$ VËdo

iii) ’o$g~wH$ Am{U ìhm°Q>g²An H$) JwUdÎmm/H$m¡eë¶ {df¶H$ KQ>H$

iv) ÜdZr, g§JrV, a§Jg§JVr S>) E¡{Vhm{gH$ gm‘m{OH$ ‘mÜ¶‘o

v) H$m¶Xoera Am{U d¡X²¶H$s¶ godm B) gm‘m{OH$ ‘mÜ¶‘o

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {dnUZmÀ¶m gm‘m{OH$ ‘mÜ¶‘m§Mr d¡{eï>ço.

~) XþaXe©Zdarb Om{hamVrMr d¡{eï>ço.

H$) {dnUZ A§Ho$jUmMr CX²Xrï>ço

S>) godm {dnUZmVrb dñVw{Zð> KQ>H$

àíZ 3) A) {dnUZ {df¶H$ gm‘m{OH$ ‘mÜ¶‘o g{dñVa ñnï> H$am. [8]
~) AmH¥$Vr {df¶H$ (AmamIS>m) VËdo g{dñVa ñnï> H$am. [7]

àíZ 4) A) godm {dnUZmMr d¡{eï>ço ñnï> H$am. [8]
~) {dnUZ A§Ho$jU ì¶m»¶m gm§JyZ Ë¶mMr CX²Xrï>ço ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Attempt any 5 out of 6): [5]

i) Minimum wages act was passed in _______

(1967, 1978, 1991, 1948)

ii) The National green tribunal act was passed in ______

(2010, 2012, 2016, 2019)

iii) ______is the major factor which indicates regional imbalance

(Net state domestic product, per capita Net state domestic product,
trends in investment, Infrastrural disparities)

iv) Agricultural cost concepts are developed by ______

(SEBI, IRDA, PFRDA, CACP)

v) _______was the major objective of Indies first five year plan.

(Industrial development, export promotion, woman empowerment,
Agricultural development)

vi) MSP stands for

a) Margional support price

b) Maximum support price

c) Minimum support price

d) Multilevel support price

P.T.O.
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B) Match the following: [5]

i) MSP a) Support price

ii) Centralization of Industries b) Regional Imbalance

iii) Agricultural Productivity c) Ministry of agriculture

iv) Agricultural policies d) 1936

v) Payment of wages act e) Per Aero Production

Q2) Write a short note (Any 2 out of 4) [10]

a) Need of agricultural policies

b) Regional Industrial Imbalance

c) Industrial dispute act 1947

d) Procurement price

Q3) a) Explain the problems of Regional Industrial imbalance in India. [8]

b) Explain the need of agricultural price policy. [7]

Q4) a) Write a note on Air (Prevention and control of pollution) act -1981. [8]

b) Define Regional Imbalance. Explain the need for balanced Regional
Industrial development [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr 5) [5]

i) {H$‘mZ doVZ H$m¶Xm ............ ‘Ü¶o g§‘V H$aÊ¶mV Ambm.

(1967, 1978, 1991, 1948)

ii) amï´>r¶ h[aV Ý¶m¶m{YH$aU H$m¶Xm ................ ¶mdfu g§‘V H$aÊ¶mV Ambm.

(2010, 2012, 2016, 2019)

iii) ................. hm à‘wI KQ>H$ àmXo{eH$ Ag‘VmobmMm {ZX}eH$ Amho.

({Zìdi amÁ¶m§VJ©V CËnmXZ, XaS>moB© {Zìdi amÁ¶m§VJ©V CËnmXZ, Jw§VdUyH$sVrb àd¥Îmr,
nm¶m ŷV g§aMZm§Mr {df‘Vm)

iv) H¥$frIM© g§H$ënZm ................ ‘m’©$V {dH${gV Ho$ë¶m AmhoV.

(SEBI, IRDA, PFRDA, CACP)

v) ^maVmÀ¶m àW‘ n§Mdm{f©H$ ¶moOZoMo ............... ho à‘yI C{Ôï> hmoVo.

(Am¡X²¶mo{JH$ {dH$mg, {Z¶m©V àmoËgmhZ, ‘{hbm g~brH$aU, H¥$fr {dH$mg)

vi) ................ ho MSP Mo nyU©én Amho.

A) Margional support price

~) Maximum support price

H$) Minimum support price

S>) Multilevel support price
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~) ¶mo½¶ OmoS²>¶m bmdm. [5]

i) MSP A) AmYma qH$‘V

ii) CX¶moJm§Mo H|${ÐH$aU ~) àmXo{eH$ Ag‘Vmob

iii) H¥${f CËnmXH$Vm H$) H¥$fr ‘§Ìmb¶

iv) H¥$fr YmoaUo S>) 1936

v) doVZ Xo¶H$ H$m¶Xm B) à{VEH$a CËnmXZ

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H¥$fr YmoaUm§Mr Amdí¶H$Vm

~) àmXo{eH$ Am¡X²¶mo{JH$ Ag‘Vmob

H$) Am¡X²¶mo{JH$ g§Kf© H$m¶Xm - 1947

S>) IaoXr qH$‘V

à.à.à.à.à.3) A) ^maVmVrb àmXo{eH$ Am¡Xçmo{JH$ Ag‘VmobmÀ¶m g‘ñ¶m ñnï> H$am. [8]

~) H¥$fr qH$‘V YmoaUm§Mr Amdí¶H$Vm ñnï> H$am. [7]

à.à.à.à.à.4) A) hdm (àXþfU {Z¶§ÌU d {Z¶‘Z) H$m¶Xm 1981 ¶mda g{dñVa {Q>n {bhm. [8]

~) àmXo{eH$ Ag‘VmobmMr ì¶m»¶m X²¶m. g‘Vmob àmXo{eH$ Am¡X²¶mo{JH$ {dH$mgmMr Amdí¶H$Vm
ñnï> H$am. [7]


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Q1) Attempt any five of the following [5×2=10]

a) Define new trends in defence.

b) Define natural resources.

c) Define defence expenditure.

d) Define defence forces.

e) Define Defence Research Laboratory (DRL).

f) What are capability modernisation of defence?

Q2) Attempt any four of the following [4×5=20]

a) Unconventional and asymmetric warfare

b) Military leadership

c) Defence items designed

d) Indigenisation of armed forces

e) Challenges in defence

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) Defence is a “topmost priority” explain it.

b) Explain linkages between planning and budget.

c) Explain the role of Directorate General of Quality Assurance (DGQA).

d) Explain analysis of defence expenditure since 1998.

e) Explain foreign aid as a contributory element of war potential.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail Indian defence companies.

b) Explain in detail elements of war potential.

c) Explain in detail the impact of expenditure on Defence forces.


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à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5×2=10]

A) g§ajUmVrb ZdrZ àdmh ì¶m»¶m H$am.

~) Z¡g{J©H$ gmYZ g§nÎmr ì¶m»¶m H$am.

H$) g§ajU IM© ì¶m»¶m Úm.

S>) goZmXbo ì¶m»¶m Úm.

B) g§ajU g§emoYZ à¶moJemim (S>rAmaEb) ì¶m»¶m H$am.

’$) g§ajUmMr j‘Vm AmYw{ZH$sH$aU åhUOo H$m¶?

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) Anma§nm[aH$ Am{U Ag‘{‘V ¶wÕ

~) bîH$ar ZoV¥Ëd

H$) g§ajU dñVy§Mr aMZm

S>) goZmXbm§Mo ^maVr¶rH$aU

B) g§ajUmVrb AmìhmZo
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4×5=20]

A) g§ajU ho “gdm}ƒ àmYmÝ¶” Amho ho ñnï> H$am.

~) AW©g§H$ën Am{U {Z¶moOZ ¶mVrb g§~§Y ñnï> H$am.

H$) JwUdÎmm h‘r ‘hmg§MmbZmb¶mMr ŷ{‘H$m ñnï> H$am (DGQA).

S>) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.

B) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Mo KQ>H$ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2×10=20]

A) ^maVr¶ g§ajU H§$nÝ¶m§Mo Vnerbdma dU©Z H$am.

~) ¶wÕ J{V‘mZVoMo KQ>H$ g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajUXbmdarb g§ajU IMm©Mo n[aUm‘ g{dñVa ñnï> H$am.


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Q1) A) Fill in the blanks (Attempt any 5 out of 7): [5]
i) The map should also have at least a ______pointing indicator.

a) West
b) South

c) North
ii) The first Travel Agency of the world was established by Thomas

Cook in _____
a) England
b) India
c) Japan

iii) A bonafide certificate is issued to the people who travel to ____and
____

a) Nepal and China
b) Nepal and Bhutan
c) Nepal and Bangladesh

iv) _____means a pre-arrangement, prepaid trip that combines two or
more travel components like airfare, airport transfer, accommoda-
tion, and other services.
a) tour arrangement

b) tour development
c) tour package

P.T.O.
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v) A small, local restaurant has decided to advertise its elegant
atmosphere and qualified wait staff. This approach is an example of
_____marketing.

a) service

b) product

c) development

vi) The process of selling of a product through publicity is called ____

a) Direct mail

b) Indirect mail

c) Promotion mail

vii) The text of Indian Passport is printed in ______Language

a) Only in Hindi

b) Only in English

c) Both, Hindi and English

B) Match the following: [5]

i) Circle itinerary a) Ends in different places

ii) Open-jaw itinerary b) Brings travellers back to their
starting point

iii) Hub-and-spoke itinerary c) Pay for their own meals

iv) Accommodations d) Base at a hotel in one city

v) Meals e) Parking for the motor coach
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Q2) Write a short notes (Any 2 out of 4) [10]

a) Tour package design and Selection Process

b) Distribution system

c) Post-tour activities

d) Pre-departure meeting

Q3) a) Describe components of tour package [8]

b) Explain Tourist buying behaviour and the role of tour operators [7]

Q4) a) State the significance of Tour manager briefing [8]

b) Explain in detail Arrival procedures [7]


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INSURANCE, TRANSPORT AND TOURISM - III
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P1846

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (7 n¡H$s H$moUVohr 5 gmoS>dm) [5]

i) ZH$mem‘Ü¶o {H$‘mZ EH$ ................ {Xem {ZX}eH$ Agmdm.

A) npíM‘

~) X{jU

H$) CÎma

ii) OJmVrb àW‘ Q´>°ìhb EOÝgr Wm°‘g Hw$H$ ¶m§Zr ................... ¶oWo ñWm{nV Ho$br hmoVr.

A) B§½b§S>

~) ^maV

H$) OnmZ

iii) ............... Am{U ................ {R>H$mUr àdmg H$aUm-¶m§Zm ~moZ’$mB©S> à‘mUnÌ {Xbo
OmVo.

A) Zonmi Am{U MrZ

~) Zonmi Am{U ŷVmZ

H$) Zonmi Am{U ~m§JbmXoe
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iv) ................... åhUOo AmJmD$ {Z¶moOZ, àrnoS> {Q´>n Á¶m‘Ü¶o XmoZ qH$dm A{YH$ àdmgr
KQ>H$ Ogo H$s {d‘mZ ^mS>o, {d‘mZVi hñVm§VaU, {Zdmg Am{U BVa godm EH${ÌV Ho$ë¶m
OmVmV.

A) ghbrMr ì¶dñWm

~) Xm¡am/Qy>a {dH$mg

H$) Qy>a n°Ho$O

v) EH$m bhmZ, ñWm{ZH$ aoñQ>m°a§Q>Zo Amnë¶m ‘mohH$ dmVmdaUmMr Am{U nmÌ àVrjm H$‘©Mm-
¶m§Mr Om{hamV H$aÊ¶mMm {ZU©¶ KoVbm Amho. hm Ñï>rH$moZ ................. {dnUZmMo
CXmhaU Amho.

A) godm

~) CËnmXZ

H$) {dH$mg

vi) à{gÕrX²dmao EImX²¶m CËnmXZmMr {dH«$s H$aÊ¶mÀ¶m à{H«$¶og .................. åhUVmV.

A) WoQ> ‘ob

~) AàË¶j ‘ob

H$) Om{hamV ‘ob

vii) ^maVr¶ nmgnmoQ>©Mm ‘OHy$a ................ ¶m ^mfoV N>mnbobm Amho.

A) ’$º$ qhXr

~) ’$º$ B§J«Or

H$) XmoÝhr, qhXr Am{U B§J«Or

~) ¶mo½¶ OmoS²>¶m Owidm. [5]

i) dVw©i àdmg H$m¶©H«$‘ A) doJdoJù¶m {R>H$mUr g‘má hmoVmo

ii) AmonZ-Om° àdmg H$m¶©H«$‘ ~) àdmem§Zm Ë¶m§À¶m àma§̂  q~Xÿda naV AmUVo

iii) h~ Am{U ñnmoH$ àdmgmMm H$m¶©H«$‘ H$) ñdV…À¶m OodUmgmR>r n¡go X²¶m

iv) amhÊ¶mMr gmo¶ S>) EH$mM ehamVrb hm°Q>obMm AmYma

v) OodU B) ‘moQ>a JmS>rgmR>r nm{Hª$J
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à.à.à.à.à.2) {Q>nm {bhm. (4 n¡H$s H$moUVohr 2) [10]

A) Qy>a n°Ho$OM AmamIS>m Am{U {ZdS> à{H«$¶m

~) {dVaU àUmbr

H$) n¶©Q>ZmZ§VaMo CnH«$‘

S>) {ZJ©‘Znyd© ~¡R>H$

à.à.à.à.à.3) A) Qy>a n°Ho$OÀ¶m KQ>H$m§Mo dU©Z H$am. [8]

~) n¶©Q>H$ IaoXrMo dV©Z Am{U Qy>a Am°naoQ>aMr ŷ{‘H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) Qy>a ‘°ZoOa ~«rq’$JMo ‘hÎd gm§Jm. [8]

~) AmJ‘Z à{H«$¶oMo Vnerbdma dU©Z H$am. [7]


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Q1) A) Fill in the Blanks. [5]
a) ______engineering is an engineering based approach to software

development.
i) Mechanical ii) traditional
iii) Software iv) Hardware

b) ______is a supervised learning algorithm which is used for both
classification and regression
i) DFD ii) ERD
iii) Decision tree iv) Decision Table

c) _______is widely used technology because it is compulsory to
test each and every softare before deployment
i) Software testing ii) Debugging
iii) Unit iv) Design

d) _______refers to the process of ensuring the accuracy and quality
of data.
i) Verification ii) Data validation
iii) Decision table iv) Testing

e) Coupling refers to the degree of interdependence between ______
i) software modules
ii) data
iii) information
iv) validation

P.T.O.
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B) Mach the following: [5]

a) High cohesion i) Each software unit performs as expected

b) ERD ii) Data Flow Diagram

c) DFD iii) Entity Relationship Diagram

d) Unit testing iv) Checking data for accuracy

e) Data verfication v) Elements are closely related

Q2) Short Notes (Any 2 out of 4) [10]
a) Black Box Testing
b) Decision Tree and Decision Table
c) Explain Cohesion
d) Screen Layout designing

Q3) a) Explain in detail Software Analysis and Design. [8]

b) What is Data Dictionary? Explain the advantages of Data Dictionary.[7]

Q4) a) Explain the concept of Software Testing and its types in detail. [8]

b) What is validation of data? Why it is useful. [7]


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Q1) a) Fill in the blanks: [5]

1) Smart Home is an example of  _______.

a) Artificial Intelligence b) Deep Learning

c) IoT d) Augmented Reality

2) AR means ______.

a) Artificial Reality b)   Augmented Report

c) Augmented Reality d) Artificial Report

3) _____ is an example of cloud.

a) Google Drive b)   Hard Disk

c) DVD d) http

4) _____ is an application of AI.

a) Expert System b)   Management Information System

c)   Software System d) None of these

5) Famous example of AR technology is ________.

a) Google Lens b)   Google Map

c) Google Drive d) Gmail

SEAT No. :

P. T. O
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b) State whether the following statements are True or False [5]

a) Java is the common language used for AI.

b) HUD is an example of IoT

c) Instead of purchasing hardware outright, users pay for IaaS on
demand.

d) Virtual Reality can be used in Sport sector.

e) Soft computing is a computing technique in which applications are
accessed by common internet protocols and networking standards.

Q2) Answer the following (any 4): [20]
a) Explain the advantages of Artificial intelligence.

b) Differentiate between IaaS and PaaS.

c) Explain any five advantages of IoT.

d) Write a note on Virtual Reality.

e) Explain the advantages of cloud computing.

Q3) Answer the following (any 2): [20]
a) Explain applications of Artificial Intelligence in detail.

b) What is Cloud computing? Explain disadvantages of cloud computing.

c) Explain applications of AR.

          
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Q1) A) Fill in the blanks : [5]
i) __________is NOT a quality of effective sales manager.

a) Product knowledge b) Positive attitude
c) Sales report d) Good personality

ii) Looking after training is the prime responsibility of_______
a) CEO b) Cost Manager
c) Sales Manager d) Marketing manager

iii) In SWOT analysis ‘O’ stands for
a) Once b) Opportunity
c) One d) Odd

iv) It is process of connecting existing and future customers.
a) Branding b) Packaging
c) CRM d) CPM

v) _______is the performance expectation that salesman must achieve
during given time.
a) Sales Budget b) Sales Quota
c) Sales report d) Sales manual

SEAT No. :

P.T.O.
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B) Match the pairs : [5]
a) CRM 1) Analysis of sales
b) Initiative 2) Set of strategies
c) Sales Planning 3) Geographical area
d) Sales Territory 4) Quality of sales manager
e) Sales audit 5) Improves seller-customer

relationship

Q2) Write short note on (any 2) : [10]
a) Online sales promotion
b) Sales Audit
c) Marketing as career

Q3) Answer the following (any 4) : [20]
a) CRM an effective tool of marketing
b) CSR need of an hour
c) Sales Quota and Sales territory
d) Sales Territory
e) Importance of Physical distribution of Goods
f) Need of Warehousing

Q4) Answer the following (any 1) : [10]
a) Explain in detail functions and responsibilities of sales manager.
b) State and explain required qualities of sales manager.


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Q1) A) Choose the correct answer. (Any five) [5]

a) The effective rate of duty shall be __________ on baggage.
i) 38.5% ii) 45%
iii) 70% iv) 35%

b) Time limit to file memorandum  of cross - objections before Tribunal
is __________
i) 80 days ii) 45 days
iii) 90 days iv) 180 days

c) ___________ is the rebate of excise duty and customs duty paid
on inputs used in exported final products under section 75 of
Customs Act.
i) Discount ii) Ad-valorum duty
iii) Market Price iv) Duty drawback

d) No interest is payable, if warehousing goods stored less than ____
days.
i) 60 days ii) 80 days
iii) 90 days iv) 100 days

e) What is the time limit for re-exportation of goods as such u/s 74?
i) 2 years ii) 3 years
iii) 4 years iv) 5 years

f) Period of limitation for claiming customs duty refund is
i) 6 months  from the date of import/ export
ii) 16 months from the date of payment of duty and interest
iii) One year from the date of import/ export
iv) One year from the date of payment of duty and interest

P.T.O.
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B) State whether the following statement is True or False [5]
a) Recovery of tax from buyers is not an essential condition for levy

of indirect taxes.
b) Drawback allowed on re-export of wearing apparel without use.
c) In case of imports other than imports by EOU the imported goods

can be kept in Customs bonded warehouse for 120 days without
paying any interest.

d) General Free Allowance (GFA) under Customs Act is allowed on
unaccompanied baggage.

e) Laptop computer brought as baggage by person above 18 years of
age is fully exempt from customs duty.

Q2) Write short notes. (any two)                     [10]
a) Bailable offences
b) Scope of Foreign Trade Policy
c) Duty Drawback
d) Refund Processing

Q3) Answer the following questions. (any four) [20]
a) What are the classes of officers?
b) What is a warehousing station?
c) What are the features of Foreign Trade policy?
d) What are the exemptions to SEZ?
e) What are the provisions regarding confiscation of improperly imported

goods?
f) What are the basic requirements for claiming duty drawback?

Q4) Answer any one of the following questions. [10]
a) What are the provisions relating to import of goods under the Foreign

Trade policy?
b) What are the provisions in respect of appointment of customs ports,

airports etc?

… … …
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